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Unit 1. Travel

Vocabulary Preview p.11
e (EXET)
A 1. comfortable 2.usually 3. hitchhiking 1 @ o= 55
4. sightseeing 5. traveler 6. thumb @ 7re 2 =A
7. destination 8. sailboat 9. stranger ©® =% 4
10. relaxing @ FEHEOIN T2t EU7|
B 1.c 2d 3e 4a B5.b 220l= FEUHET 2EASOI iR Q7] U= HadS
A5t AT
& o 2 3Hmf 2ColMd S0l G5 MollM ATIQf A-RBE E}
710fl 0f ELCF 2k= LHZOo] AT
traveler &t&7 O} sailboat M, =t
comfortable HOIGH relaxing =528t H5t 3 3EW 2ol HZ Mol AS0| iR OFSE7| W20 At
hitchhiking 5lx[sto|= destination 2%x| 50| Gsts 20| MABICE 2= LIEo] QT
stranger &4 M2, @2= AlZ usually 25, TN L CARIS0| BZ MS Eo| TAR} HErf oA 22 Ao &
EIESTE i ing 2%
thumb ZX[&7¢ sightseeing S Hi=0| QCH= S =28t 4 olr}
bored XIF¢ wEal5k= activity &3, 27|
lift So{=2(Ct cheap 2

illegal 242!
@ Bothislands are beautiful and have many
01 SAH SAR

Reading 1 p.12

fun activities.
1.@ 2.@ 3.@ 4.9 « S &AM and= SAf are, haves HZsHEL

. . « S\t are, have?| 0{= Both islandsO|ct,
Visualize the Text o

(1) two islands (2) fun activities EY People call it the city of sails because there
(3) Auckland (4) tall mountains are so many sailboats.
(5) movies « 320{ + call + =X0] + SAH0] : A} call2 H

AE 2EE0I2 ARSI

@Y In the summer, many people go hiking.
m +go ~ing : ~ofd It 2te £e2 ARRQ} O
RSO 0 217 QU= HA0|T FAH JlEtES oigsi= malol AR EICH
SF0IN SZC=2 25100001 Heloll HXIBICH FAHE
g2 do = el Moz 0|R0MULE = JHel

=
— -/
M2 B5 0lSET, MoIls YEST HTt

+ go fishing : HAISH 7ICh go hunting : AlESt
2 7ICE go climbing: SAICH

2 Answer Key



Reading 2 p.14

1.0 2.3 3.® 4.3

Summarize the Text

(1) many ways to travel

(2) can be fast and comfortable
(3) may try hitchhiking

(4) illegal in many places

(5) strangers are good people

f

odliste A2 M22 dastt Ai—ES 2 + UM S8t
dlisk= Eoll= o2t 7RX7F k. &2 AlE=2 Uol B2
ASaE T2 ods ot 2 MEE2 B8 =0] BXl
2Z0FA OISV | ITh MG WS Rofof BTt FH2 MHE2
HA, 7IXL = XASAIE B =

72 ofdistE A2 HAES Els AEC0H 20t Hers et
RIZ|7H Eth G2 7IXE B i HFS Tol & 4+~ Un
o2 ol Fxtel| mzol Mz HAE We of 2 ¢ UCh
Qiof ghlo] At oflfetttH ZIXioll= 0[0k7| & AlZol 7|
=20l XIF5tX| 4= AoITt, 0|2 (S sk HRtet H-o|C
2iof ol |ofl 2ot == w1 UX| HTHH, SIX[soIdE &
S QUCL SIX[SI01Z2 SMCE (a) a2 2 FHoll MA Fle]
2 S1 N9 x| &I MRE 0t (b) ARE2 S
o 2E SHXI7IX| EfRIE = UKL ZAI0| Filef =HKo
E=AG W7HK] B2 SIXISI01ZE oot & Z0[tt (c) Z2ibt
SIX[Glo|Z2 fIE + ATt A2 Ras f%%§$E1 xE
201 2 30| 22 AMFSUR| 01X 28

SRe 2E0 gl
)

Ct. (d) o] Wizof, s5Ixls

=)
oN
o
62
Mo gy

(2xE)
1 ¢ 22 H=ez 7hy 232 A2
@ ofe| = 7KK e
@ el E7=
Q@ slxlstolZel g
@ 17| U= 7IXAH
S0l 7IxIet SIX[Sl0IFE 0I8stE F 7IX| oflilEs

AL QAT

[}

2 % =9 W8 Lo = A2?

@ sIx|slo|Z2 AREXZ Y-S 4 UCH,

AnswerKey
H20ISS Of3i517| oAl 4t WHSS FOloF Bit
® aﬂar wg e LfzjoflAf BIolatn el

7| =0l B2

3 # 29 T relaxing(EREH T 71 2lo|7t vl 227
O e 27| U=
QL @ merst

b
relaxing2 OIS O3S LIS siFE 9 <fnjo|T,
=9lo{=2= estful, peaceful 0|t
4 2| 20M OE 20| &0 2
[ J2iLt BIRIGI01ZS Q13iE £ QUCh.
(c) OI20| LteEs E2 6
X

O}, b Z0f7!

€Y Traveling by train is popular because it is
more comfortable and faster than riding a
bus.
* Traveling2 SBAIZ 28| £=0{0|Ck,
+more comfortable and faster than2 Hlus
HS10|CF
« 12 CHHALZ traveling by trainS 2lo|sict,
« H7LZ= 0|85t traveling by trainzt riding
a buss Hlw3ACk

@ You stand next to the road, lift your arm, ﬂ
stick out your thumb.
AT A B and C
Z0{ YouOll =At stand, lift, stick0] S¢
and2 HA0] UACE
« HEFZR0l M= JEHRE AlRof 5

[TLEAL

olsfiof Bict,

@& You do not know if they are good people or

not.

c BAFEZ MEE i 1 BAEEZ 220lM 30, =
0| 20{o|

«if they are good people or not2 SAF know
9| =x0{0|Ct,

< if7F APEO| A= 552 ~QIX| oKX O|ck

o

AL
« (i 0] AF2E or not2 M2 7Fssict

&= Bict

Answer Key
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Unit 2. Hobby & Job

Vocabulary Preview p.17
A 1.rarely 2. raise 3. lawyer
4. opinion 5. popular 6. unusual
7. poisonous 8.owner 9. professional
10. pet
B 1.c 2b 3.d 4e b5.a
& oy
popular 27| U= pet OIS=

raise 7|2Ct 22

rr

t poisonous =0| Q!
rarely X3 ~5IX| &= owner &FAf 52!
lawyer HSAt unusual S0[8t E2
professional &240! opinion 715

X

f
dangerous ?/&ict

cruel iRt TH=5F
special S5t E46t friendly 2IE5t 579!
decide ZHalct, ZAalsict
Reading 1 p.18
1.0 2.0 3.0 4.Q
Visualize the Text
(1) garden (2) friendly

(3) play around (4) comfortable

(5) catch and kill (6) large sizes
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== /A1 Atk =22, MHE

T oftSES TI=AIT,

H
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el
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o H g o §
i
Ol
=

S 7HKL U= AIRMEE AUACL O AIRSE of2SE

HXIE 7120 il2 HXE Hotll S0|11 #2271 U o

T G271 L2 ofof OHEOME 7127 07| =0l

HXIE 7127] floid FHEHOI AGOF & Aol =HXIS2 i<

Zlidet =00k 282 HE S=54 0RVIXZ Y2 ol
S 20{eIT,

o 57eh OSSOt W2 AMFS0[ ol fHoitte 4

ZISIAI2E X2 AMEO| OfTE, % FE2} 20| =0| U= Y

ST fISoln, MHE2 aAS5S 7 OIASE2 HXl H=0

Answer Key

i

WS SEE EHES ER= dith 159 fel= Tl H
Qfslof ottt asofll LB HoiRl= Ho7F Eesict thEz2
B2 IS0 YoM 11 S22 e Hol2 HE Aot (a)
W2 MEE2 280 Yol a5°| AlFE Algstl =0l= A=
BE= XS ZO06HXEL O M2SE2 0] ZIRISITI T 42 iet
Ch (b) OMX[2ez, o WS ofF 2 A7|2 d&ettt. (c) ol
£ =0{, HIEM2 40 g= 20|z gFoIth iz, 252
59 F2IS0] 71970l UR 2 2717t HVI= ict (d) &
L2 WS AR7| ol 21 #0| Hott HE ARUX| L1 Aof BIT,

(2rs)

1 O s%stoiess
@ i3t ofeisE
2ol Sixiet #e ojgsER JieE

r o

75t QlCt o

@ 7r 2 ois=

@ s oS E

2301 cHshA ofof
2l St OfRFSES 0l M=eZ THY

HESIC

2 ool Wse o] S2S O FUS wo2t 247 of

=0lC,

@& You probably need a garden to raise a pig
because it would be difficult to raise one in
an apartment.

* 10 raise= PAIE o=z =X LIEILHT
7|127| flatof olck.

«it2 71504, to raise ~0[5H= TIF=0{0|Ct,

0

r

people rarely keep them as pets.

srarelye &2HOZ AHo~otX| =Lt 9 2jo|
olLCt,

=

ZEH0{ : rarely, seldom, hardly, scarcely,
barely

@ Snakes do need a lot of special care.
+{do(does, did) + SAIE) @ SAE d=517|
oA do(does, did)E ARZSICE

@I Many people like watching their snakes

i



-

hunt and kill their food, but some people
think this is cruel.

* XS AHwatch) + =X01 + =XHO(RTLEAD
« watching2 SHAIZA likeQ 20{o|Ch,

@ Sometimes, they get too big for their owners
to keep.
<100 A to 2EAKB) : HF AsliM B 4~ giCt
+ {for their owners)2 to keep?| 2joj 00|
O 2Rl Olnjd F0i9| Sl for + 2
2z o|ck,
@J You should learn how big a snake will get

before you buy it.

« UEOERE O 1 2ZAL + F0{ + SAL

+how big a snake will get2 SAf learn? =4

ofo|ct,
Reading 2 p.20
1.© 2.0 3.0 4.3

Summarize the Text
(1) One unusual job

(2) test games

(3) to sell them

(4) video game magazines

(5) their opinion of them
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It A 2lAt O HY HXNSS flsl
FS0] HICI2 AY SIAS ffeh LoitiH, 1

=S

7] Holl 2 AYE Alglsh SUct (b)

X

-
Am
S
rD
19

rlo @ nmn RO 12 1o

un e <@

ton
—
~
N

H

Il

AnswerKey
Blep 250] HICIR AlY TXINES Sf5 YsiCiH, 1SS ML
HICI2 AYS 8 S0| BES S () 1SS AUS 3t 5
o 7IALS M RRISO| ZiHE TEILCE DIoF 150| AYS &
OFSICHH, 1 AIUS Of} OH & T ZIULICE, (d) ZAl0| &
Ol US BITA S B 4 T HS MAE 4 B
7R OIRE SO T2 AIUS 10t Bl SHx| %S Y
LICH 0132 Al @it Xigiel ZaiLirH

1 ®I2dH=ez 7Hy g5 A=2?

=
HO
i
2
R
=
o
fo
N
e
lx
jinz)
=
=
il
rr
am
=}
ro
i)l
i)
njo
b
=

2 9 29| =0 unusual(E0Iehat 7K o7} HIZet 22?

OF=s) @ S0l oet
Q@ o=z @ FHe!, 239

unusual2 '£0[8t 0|48t o oojojl, SoRE=
‘strange, unique, extraordinary’ 0IC},
3 % 20iM g2 AY Z20[01S0] HICI2 A &

SiiM RS sk=7f?

>
i
40

O a2S2 HIOR AYSS Tt

@ aS2 H[H2 AUYSS Alai=ct

Q@ 252 HItR AYSE 2=,

@ 52 H|t2 Aol tishM HES eith

50| HICI? Al SIME flal PBICHHA, 252 3|AZE 1

AYs E71 ol 2 AIUS Alglell 2ot 2k= 0] RACt

4 ¢ 20iM ths 20| 012 ?IX= 71y g2 A2?

(OS2 AUS o 0] 7INE M RHRISO| 741 LBILICH |

(c) ¥ofl Bt A HXIME ffo Yotz LHE0| L=C
TIME AT = F0IE 29 ¢

what, AYS 8t =
=

Xl= (c)7t HMEsitt,

@ Butifyou are still thinking about it, why not
consider an unusual job?
(it o YOI L= QAL HSAf, WAL SIARE,
AR S0 g7 Al Z{S x|EISICH

oL © 5
* {why not + SAARE~?)2 STl xetsk=

folos

Answer Key
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HPICZ L2 ~oh= Al ofu? o|ck

@ Canyou imagine doing what you love and

making money too?

+ doing what you love and making money too
= SAfimagine2l 2&{0{o|ct,

«doing, making2 SBAIR SHTESAL and=2
Azt

« whate MAAISE ZLefeh A=
that)2 (~Z) 2= sHAIBHE,

the thing

@& No one would tell you to stop playing video
games.
«(No one)2 OfR= ~QICt of on|2 F2 AR
Ol A0|0 Thas FFeth,

«tell + =X0{(A) + to FHAKB) : A0lI7| Botzt
AlZICt,
* stop + ~ing : ~ol= S Sthofct
stop + to &AL ~o7| fI610 R
Unit 3. Health
Vocabulary Preview p.23
A 1. flexible 2. pose 3. bow
4. practice 5. pain 6. digestion
7. claim 8. resident

10. secret
B 1.c 22d 3.a 4b b5.e

9. life expectancy

& o9

pose At digestion A5}

secret & H|Y resident =0
practice Z&(5HCH life expectancy 7|t 43
flexible et
bow &, HolCt

average Ht

pain 15

claim F&olct, 2+6ic
as a matter of fact AF&2
grab &CH

relieve 2f=tA|7|C} Z0]Ct

weird 0| A5t

Answer Key

Reading 1 p.24

1.@ 2.9 3.@ 4.0

Visualize the Text
(1) practice
(4) lie

(2) stronger
(5) bend

(3) digestion
(6) lift

o MHE2 /PF GAle O Hdsi== 250 & 4 8=
IX olddet AEIFO2k U AF Of2fE2 Chefet 27t
Mg SoiiM EEsliAlL KR & 4~ ABUCEL 2= HiE At
M= =& ofggUch o A= & olate =guch =X R
MZS0| I XME Fois] & 4 ATHEL AH HiZE2 0]
XMIE ob7| flohM B2 Sgs oiof gLct a2iLt of XM=
OAEol 51 7I5E EEoM sigUT) E&F S0t Ti2|9] S5
= ey, Asle EoRELCE P, HIES Hi2fED =9
M AIEEILCE HIE B0 20MlR. Teez 252 F12

EESWIE! Z o222 0| X

EEER)

1 ©EZXRE XM +Fshr

@ AHIE Z BH=x) K5
@ 2712 0/ HsP|
@ 259 5242 YZ5P|
'27t0] Aol CHet FET T & XI=sts Ligel 2
olct,
2 @cofi @ opIsict, Zafsict
@ ULAIPICY, FABICH @ BRI, Tt

Of==Ct, P51l

‘alleviate, reduce, relax’ O|Ck

relieve= 2 ottt o ojojo|n, S2loi2=

3 20 ol & XMIE RXAGI=S SI&olH 12 o1y & Xt
MIE & 4 U = 0| AZ=RACE,
4 O ofX[ge=z @ et
Q@ AHe=z @ Atz
2IZh OS2 2 AfMef DiX|et nkEE ddshe WEOIT, ot
S

2EM, B1ZH0l| finally7F 718 &SIt

—



@Y Some say that yoga is just weird stretching
that can’t make you stronger.
« X BN that2 FEAEM SAF sayel =Z010]
O (HAE)
<5 B that2 AHEAN FHo=2 HARI
stretchings AR (ASAME)
» make + S&0{(you) + 2XE0(stronger)
& Only a few can do it correctly.
conly a few : &KX 2 AHS (289 2J0))
«it2 the bow(R7} & XIM)E 7t2IZICk,

Reading 2 p.26

1.0 2.@ 3.0 4. @

Summarize the Text
(1) a simple way

(2) their own fruits

(3) another secret

(4) lots of effort and care

ey

F=O| A2 0fE0M AFS2 22 Als 2iHe gRs ¢
gUCL 2ERES MHEE2 IS8 EXIM XS
OFRHE THEHEILICE LIO| B2 AFAE &2 titie7t 0
FUES siztaUc 252 0120 252 22 =S =2
AL FHELC MM =HAEE S= AN 7HY =2 7

Aol /\f Liol= 89atedL]

m

°

o}

SO
o omo &%

MU

=
i +3S 71X UsHC.
Cf ofhef ZeiZoME =

2 . 50| He= 0| ZL%OI
Lt ETEHIZES =5

(EXEE)

1 9| 20 HI2o= rhy Ygre %27
D =S ¥ 0is
@ B 020Nl A M2
@ B 020Nl 7k 23

ZgUo 2ot
7

AnswerKey

@ 7l 239 s2d
of 22 7Ith 30| &2 E=

olct,

F

10
ol
A

2 oizol

el

5t U8

2 Jef=of cst Moz 2X| 2 A7
D HIAEE= ATt 7| £H0| =Lt
@ YAETIAEQ| 7|CH £HE 80| 0l4olC,
@ =HE9| 7|t} £HE 80X 0l5t0]Ct,
@ THo{EHt HIHAES| J|of ~HES ZT
IHOJRHBOAM| Ol&)2] 71t 0| HWIHAE(TOM)S] 7| 4
HEC} =0

k= .l ) boket
M Rolut ZIlZ LIEHHE as a resultZt 71& HXsH oA
ofo|ct

4 OS5 & 9 22 71 2 st 427

O Hes 7t A2 Adst 42 2l &L
© e = oi2 TAls W2 7| 288 7HX| Ik
@ BEFES FUIE2 2E SF9| OIS St
@ & 91 gsxo=2 A= A0| FUSS HaotA ittt
F=O| o DRSO st HHEHE AMS SAlg 5o
HAl E5Xo= Malel= ZUs Sol= 20lct

@Y In asmall English village, people have found
a simple way to live a long time.
+ have found: Sixft=
1o livee YA BHOZ a simple wayE 4
AlSiC,

@Y Many of the old residents have done this
their whole lives.
* have done: BIMi= (A1%)
+thise & 2¢ HISS EXI0IM XRISS| nfdt
OFAIZ ZHHiSk= X' S 2ojBict,

€Y As a matter of fact, Montacute has the
highest life expectancy in all of England.
+as a matter of fact: A2 (= in fact, actually)
* Zldg 2o 1 the + g + in Y& (of =43

Answer Key
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Unit 4. Holidays

Vocabulary Preview p.29

A 1. last

4. available

2.legend 3. decorate

5. gather 6. responsible

7. parade 8. have in common
9. traditional 10. boredom
B 1.c 2e 3b 4d 65.a
£ o9
traditional 52 gather 20[Ch 2ort
last X|&5otct, AlZotct parade %! mol=

decorate ZAIGICE
have in common 2%z
legend =14

boredom X|2&!

X|ct
responsible &
available 012

-
around the corner 0iX| %0t  delight 7|1&, &71&
;_L

attract 052 2L 0i=2AIZ|CH desire Y, 27 42
especially E5/, £3l
Reading 1 p.30
1.@ 2.@ 3.® L @

Visualize the Text
(1) O’Flannery’s Family Restaurant
(2) St. Partrick’s Day  (3) Irish dishes

(4) Irish dancers (5) activities

=D

4 ME2I9] H(St, Patrick’s Day)0| 2 C7kgUCH A TiE2]
ol chet eSS 0| S0EMs duth 12 & stof =,
Soict 5k, 0|9t 2o, X3

esdHel HAEE2 o MEZS| ol K2z XIFes =

g= 4
OfLl & AYLICH TS OtHHE QeASS a7H6l E2|A] 2|0
7IEUCEL 252 2 H|E(ag Hel A17)eF TS ofdHs A
For Z2 280 ordue] SAls M2 AYUCE ATzt K
3| 7Hoil= ofZE HMS0| U] 0152 T S22 02
2= 7|8 si=E AYLIC 0l0I5E flgt S8t 25k Us
Lot 2 Hofl SotM o mHESS] o F310] Lokt Mol

Answer Key

SVt AR oiMle. 2Z24z2| Tide| AR 01 |2
off erESIER! ROIL, 2MAM Malet e o HEZS| =
HatMl

(EXET)!

@ A 20|

© MEXQI 0jUHE AE AP
@ 2= YrEY SH5|
=3z HAESK

o] &5 7|9 As g&ok= 20/t
O 220l @ 283t
Q@ xz22 @ 0X| gof, 7k Fehol

around the cornere ‘MX| 20t 717k &zHof 2| 2|alo]

1 SO|2E ‘soon, in the near future’ O|Ct

22| HAEZ0|= Ol0|SS ¢let EYet AT AU
CF 21 AFEIACE

o ME=S] Jof 2Z24z2| HAELE OfUHE TSSA
1f ofZelie 2% Foz AMSS S 6l & Aol

@&J You might have heard about many legends
of St.Patrick.
+ might(may) have p.p. : 2742 Al
« Sl ~VREX|E ZED, ~OIUS K= 2

@ We are excited to introduce traditional Irish
chefs.

« FEAHA) + to FEAMB) : to FEMBIE 248
HRUA)E dske FAY S-o|ct

- 2 d2A}: excited, angry, sorry, pleased,

surprised

In addition, we have a group of Irish dancers,

who will delight you with their folk dance.

«In addition : <ACPhets Sz, £ AHe
M ARt
+whoe= EANHAL FHO=2 MIMAR= a group

of Irish dancerso|ck,
s ZACHEAL AES 28

— 1 od

D BAEAL 220 S0t
7t et

—



@I Don'tsit at home thinking about how much
fun you could have on St. Patrick’s day.
s thinking= PIHEAIZM SAISAS LIEHHLE
(~3IHAM)
« how much fun you could haves ZAP(9]
S2AL+ Z0] + SADZ aboute] 2=x{o{o|ct

Reading 2 p.32

1. 2.® 3.0 4.©®

Summarize the Text
(1)celebrate holidays

(2) attracts millions of people
(3) the largest beer festival

(4) a grand parade

(5) forget all the troubles
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U SEHHAE= MAIM 7F 2 o=
) BiTH A4 £ CE 217]

iAol AMEs2 80 28U (a

ZHl FtE2 EetEolA 71 2 THEIYUTE () Ofsh 2

2 2|RURHOIF Az A 7120l H2lE Z2l7] flsl &l

Aol Xtz 7iSet e m|o[=E EUC (c) XX =
=1

A
| S2l11 2E AMFE2 &2 U (d

3 t
= SHE U2 MEES =2 SYUN HhAEez 7|85
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AnswerKey

S0 MPIEOR RE SEHHAE, FiLiY 22 &7
=
=

A6k Uk

2 2| 29 desire(@)2t 0|7t 7HE HIpt H2?
DAL @242 O AHE @ MY
desire= ‘@Y, 271 ZY 9| ofnj0|1, SNH2E= ‘wish,
longing, hope’ O|ct,

3 o2 5, ¢ 20N A3=X| &2 227
D 2EHIAEE= 16Y SO AlAECH
Q@ SEHHAEE =Y 250 IHE =k
B AHES 2|2 7oA 7
@ 2|19 7Hol= the ™0|=ot QT
ANHE0] 2|12 FHEoM 71HS RESHK| L=l = ¢F

K] STt

IS ZESHA| =L,

[y

4 9 20N ChS 25| S0z YRl ThE A %S?

HICH A4 & OE V| = SHl= w2 MEES =
SYUCH

(a) Hoil= SEHHAEO et LIES AJ45H AT 0]
I 282 SEHHAES OHE FHel Batd SHE A
St 7| Wzofl 0% 2Ee| Y82 #IXl= (a)OlC

@& But one thing (that we all have in common)
is a desire to have fun.
« that2 ZAHEALZ one things =AJBICH
« have ZAHA) in common: AS ZEX02 X
1o have= EHAIE HAt a desireE tAlBICH
« 2219 01 one thing, SAK= isOCH

LCk

Y Oktoberfest is the largest beer festival in the
world, attracting millions of people each
year.

« {the largest + BAL + in the worldye ZAS
HH0ICL,
s attracting2 2AtS] ALH ez

attracts@t 22 2ojo|c,

and it

@& Celebrated all over the world, Carnival is the
biggest party in Brazil.
«(celebrated ~)HEJ2 being0| M= +=5F
EALZ0|CE,

« Z[AE 28 the biggest party + in &4

Answer Key
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p.34

Vocabulary

A 1.flexible 2. gathered 3. responsible
4. rarely 5. poisonous
B 1.0® 2.0 3.0
C 1.resident 2. destination 3. opinion
4.legend 5. owner
A 1.toplay 2. rarely 3. hiking
4. may have missed 5. has known
B 1.climb - climbing
2. eat -~ to eat
3. snowed --» has snowed
4. may not attend --» may not have attended
5. hard --» hardly

Making Sentence

A 1. people don’t have enough money to travel
2. like watching their snakes hunt and kill
their food
3. higher than most other places in England
4. who will delight you with their folk dance

5. One thing that we all have in common

(EXET)

» Vocabulary

A1

g =2

2 50| oM TH RES SIS 27| fleiM 2RCE
3 OIEREE =AMl T

4L KAEIS 20

Ea

Answer Key

2

_1,__

@% et @ ziZet @ =X
X240t A2sto)7| =0l shiS= 7[HCk

O2 QB8 @ uTsY @0

)\OH
® 243
3. DixIRiL

bl ﬁ ]
ron

= —
2. destination : A %*OILf =710] 7}t o= &
3. opinion : EE8F 0] 2ot MZES0|Lt AlE

4 legend : St Al (=)0 et 22E FHet 0jop|

5 owner : EYot 2718 ARFol U

» English Usage

A [HA]
CE3= @il = F ok Jiek Ml o] nYoIE ZiX|:
UL,
2 Cf2|S O] ol ofl2l2 Hel 2E +7F QI

3. O F2f0f LI 20| 5t0|Z52] 7HeliR?
4 o2 oMl M2 7I= 7RIS sREXE ZECL
5 AEIE2 02 AIHREH S2(015 Loy et 28

oflolc,

[EH“]
S = off st B2 to play with' O|Ct,

2 rarelye BAIRM 72| ~GIX| 95| rares EBAIR
=2 s|7Ef 9| =oc

3. go hiking : 301Z& 7ict

4 (may have pp)2 A9 SIS F= (may SAf

2 M2 F=S LIEHHTY,
5. Of2! AERE SIM7IX] A%
AlMI7H Eestct,

Lok | whzof

B [sHA]

[m]
2 H2l= JEI0IM HE o A= LA 27t glRIC
L

3 5 S0 =0| LR J2iM =27t X5 HA=|UCt
4 AHEE= 2= 0FY 2//0f HAMoHA| EUSKIE ZEC
5. 150[ 10tUE 7HK| RellM ASREZF TRt

[ati&]

1. 546t 71t go climbing
2 to EEA= Q0| HAE HAISITEH

Aot} B2 A anything
to eat
3 5 TRH XIG7VHK| =0| Ch=

AHI7F Eesict

LRolo2 xetE

—

Stz



002-052-3 M G} 2014.12.5 7.6 PM T 0] X 11 —{E—

AnswerKey
4 1(RE OfR)el EstAlet 2X0(Z2 may not have solely 22X blur 53/517 prsct
attended7} Yot mao|ct afford Giw7t QUCH technique 7=
5. (0 + had hardly p.p. ~ + before + 0{ + THS achieve SE5if assume FE5i
Ap EBIO2 20| hardly7} BesiT develop HEAIH el
disguise #H%
» Making Sentence
A 1. piof odatsb|oll B £ 2tn QIX| YLK FIRISHO| Reading 1 b
ZE2 g+ U
2 B2 AR 250 Wol sl Mgsm Hoe 222 | PO 2@ 30 4O
= X2 Z0reitt, Visualize the Text
3 0172 &= Oitt=of B2 XSS SAIM 108 = (1) modern violin (2) string instruments
= AYLct : :
(3) expensive (4) signature
4 2= OlgHHE S0 U=t 0|52 BEEC= o -
B = - P = (5) difficult
HES 7187 sll=d AYLCE
5 Rt BF ZE2Z SFok= A2 &7|1 H0jsk= &
o =D

Eir|Hi2|RA I:IfOI 212 MIAOIA ZFR HM Hfol2210|Ck
AERICHIZ|RA0 Cls MAEQICH 2= of

2 E80 Hlo|2ES USSR, MS2= ARl Ho|SEE A
2Ch = 16443 O[Zz|ote] =22t X0 ENOIRT,
173701 AT 9] Y S0 AERC|HZ|RA= 11007H
o Hiol22, 5t=, M2 J|Ef J2|1 HIZ2t 22 HAYISS Al
CHAPTER 2 RO BP0 2 0] AERIClufEISA Hlol2RIoR JiE 9
Holtl AEeC|H2|RAE HIO|ZEE 2TIeP PERICE @=
2O AIHE2 O AERIC|HZ[RAT} Qeff H0f| B BAle
2 tjolzEs BT

E2 HolSE|LHAESE AERCHIZ|RA HIOIZES 7HK o
Unit 1. Music OfotX|B iS22 O HIMD, iRR0 AMHE2 24 7
g oiR7t glCh AECCHRR|RAE ZF 247(0| 19| 0=t 117t
Vocabulary Preview 0.39 EHO{ ARl F2f @it T21 HES MYRICH a9t 19| Hio|
s SE2 FiNn, ANHE2 19| 7|s#0t otet 19 MEZ
A 1. mystique 2. technique 25| ARRICE HIOlE2! MAKES AMS0] @2 AELI
3. nevertheless 4. instrument HI2[RA9| HIOISZIRHE 7ot 37| R0l AEaiC|Hl2|?
5.signature 6. ploy 7. string A9 NS 55101 AIBSIRICE HIOIZE! MAXIES ARHES
8. afford 9. solely 10. blur 20| K| YUK Ehrd| AERICIHRIRAS| HIO|Z2IXZ

HA[BE7] @fotod 10| MHE AMESINC, @=H0ll= AERI

B 1.e 2.d 3.b 4c 5.a

& o2 = 7| ot

instrument 2{7| signature MY

string &, & mystique AH|Z2Z (2xsx)

ploy &% nevertheless 120l|= 21511 1 @ |Hst AEeiC|l2|2A HlolZE

Answer Key

—
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@ MAPIM 7+ RF
© HiolzB! &2 024z
@ HiOISE HMEe| bjPAs

O‘ :LO AED

20|
2 @<Lt @ e O

oit}, ghe )\|7\Ef 9| olojolz, S2|of

=
ClHI2|RAS] At AEE

=

ot Liss Avietn T,
perfecte 25 HA|
2& improve, make better O|Ct,

3 AEiCjHe[RAE L SOt

2 JIEf OJ2|ad

1,100712] ol=

|22t 22 7|2 MERIC

21, 5, 2

g

4 HPOIZE HAXIS2 AI—FSS £40(2
2itjHfeleAl] M3z AEshA 259| Hiol=RI0] AEL}
5

Cloi2|?A HiolZ2IxE 2012 &

g

@Y Stradivarius violins are the most expensive
violins in the world.

o ZAE B 1 the most F2A + in XA

During his life, Stradivarius made 1,100

string instruments, such as violins, harps,

cellos, guitars, and violas.

«(A such as B)= B2 &2 A £ aliMatn, of
AE S0 28 0f 2 ASEIC

He and his violins became famous, and

people began to copy not only his technique,

but also his signature.

A2f OfLI2t B

* not merely (just) A but B too (as well)0| 22
olofo|c,

*not only A but also B :

Now, it is difficult to know if Stradivarius
made the violin or if other violin makers
simply used his signature when they made it.
«ite 71504, {to know ~)&= ZIF0{0|Ck

cife BAEES 0l ™EAMZ ~QIX| OMX 2

shAtsict
<5 0O iR S HEAL or2 SAR0 AL,
SAE knowe| =X0 HES Bict
Answer Key

Reading 2

1.0 2.9 3. 4.Q

Summarize the Text

(1) wearing helmets while performing
(2) create a fictitious atmosphere

(3) keep their privacy

(4) composing a score for a movie

(5) winning 5 Grammy Awards
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@Y Daft Punk has created a lot of mystique
throughout the years for wearing disguises
while performing.

«have/has + p.p. : SiXigtz A TARE! S|
PIX| XI5t S9I= ojnSict

+ while performing : EAFE0IA F0{ + beSAtS
M2t 7hst dEl2, Eetok= Mol o 2Jojo]

=

Many popular artists receive just as much
attention for their physical features as
musical talents.

«as much A as B : B 2XI2H A=

Daft Punk has managed to earn the love of
fans solely through their unique style and
catchy tunes.

* manage to : 75| ~5ict

In addition, they admit that they “are not
models.”
«in addition : AICk7t

Unit 2. Movie

Vocabulary Preview p.45
A 1.unheralded 2. amid
3. consecutively 4. star
5. disparity 6. praise
7. reclaim 8. sequel

9. anticipation

B 1.e 2b 3.d

& oy
star =HS 2t

unheralded 0/2| L2{X[X| 42

10. underdog
4.a b.c

disparity x|
underdog At

sequel &
anticipation 014, 0=
amid 7+

previous 0[&19]

Hi=

i)

prominent 29!, FHe!

remarkable =2t

Reading 1

1.@ 2.0

Visualize the Text
(1) J.R. R. Tolkien
(2) 2012 to 2014

(3) Peter Jackson

AnswerKey

praise ZTE TAL
consecutively 215104
reclaim =/

audience &%, &
PSS

rL O

tremendous &

3.@ 4 @

(4) The Lord of the Rings
(5) the setting of the original novel
(6) the moral of the The Hobbit series

fies M JgoR § FaISS AR BA BET
AZ0| BE R OlR= T HI0| YA ANS 57150 Of
BUICk iolol, ¥at (55D AlRIAE JRR E700] & 25 4

=
i
o
o

bal
s
un
o
H

0 Ol
N

Answer Key

13
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(EXET)

1

3 M Bim 2l ot 2ol
SO TAS EUTH=
4 T B 2HO| oY £ 2YE Soll 22 HizlAYE F30]
(@]

 —
E 2fXHunderdog)&s & 4= ULt

@EY 1tis hard for most book-based movies to beat
the original novels due to their lack of details.
*due to : "~ 20l 2k= 2Jojo|ct,

@Y However, The Hobbit movie series gained
tremendous success, along with the original
novel written by J.R.R. Tolkien.

« along with : "~ OFEEX|Z 2t= olojolct

@ Another reason is the clearly revealed moral
of The Hobbit series that the unheralded
underdog overcomes long odds to become
the hero.
+&49 H&EHA that Flol LU= Hlthe

unheralded ~ the hero)2 1 0] U= HARI

the clearly revealed moral Of CHh F2&|&Q!

Lige eiolct

o= 2O

The Hobbit series gained praise from a wide
audience, not to mention from Tolkien’s
fandom.

A= gl

Jto
rlo

+not to mention2 ~2 &gt

~2 80|11 9 2lojo]ct.

3

Answer Key

Reading 2

1.0 2.0 3.@ 4.Q

Summarize the Text

(1) in great anticipation

(2) knock over a common enemy

(3) nominated for multiple Academy Awards
(4) Thanks to this success

(5) are looking forward to

(OfHIMAyE 2012 Aot J[of £0f HSHASHT, 2HE
CHRL F=LI01, AZisl @5k, J211 AR L M2 22 &
et HieE0| £t 2 Fake (ot (E=), a2 ¢
ZHE oft[27h et 22 0IHe] OfE FUHA Haol d&5= 7|
groz gict,

(OfHiIMdA) 7F 2SOl HMS AlZE I8 7oz 8 o
3= 0[FR{E et 7H| Olf= a40] o2 H| M=

=4

S|Z25S of He2M HHol=S e 2UAtkE YL Of
o[RiEH, Q=|tiE &3, ME ofm27, E=, 23010], 22|41
= P=fE 2T 389 Mol E20| HEd 27|15 Mz
7| 2fsh 152l X0IEHE HoiFe YyS iRt Fuck
(OfHIA) O sfefph Hdnt =2 2ot AFE J2iE:2 Cpo
oidoly 20| 2= &

= & 22109 Z2E 22l 71 HE 3Pt UeH, 2I5H

o=z M MM 159 F2t e 2lg SREUC. (a) 0

H
oo
inil
-
0
g
ro

1 @389 @ Mlsk=
Q@ o< @ 0JX<
previous= 019l 2k= 2|0j0|H, following2 THS2f 2t

= E=0Z previous?| BICHZO|C

2 U 2H9 Uigs Sl 1 5l012S50] 59 A 27

—



002-052-3 M G} 2014.12.5 7.6 PM I 9| X 15 —@—

AnswerKey

p.50

3 O 2ol (ofHixA) 2

HS 115+ =2 o A
TS mSleh O RLHA Vocabulary

A
=
USISO| BAIE AEUS o 4 9lou)

£HO 8 o™
Al7I= SIZE|X| QotTtH A 1. anticipation 2.sequel 3. consecutively
i ) _ 4. prominent 5. previous
4 O/R[E} Eef2 (oA o MEo= Qs CHE Hsks0| &
A2 A2lds sl UE0IE2, didoz Hafo| £4H i@ o @
=0| MZ5P| OICI (0)0] DRIS SZAF OABICE C 1.disparity 2. instrument 3. solely
4. ploy 5. unheralded
@& 1twas built upon the success of previous
Marvel Universe movies such as Iron Man, A 1. have been 2. was 3. that
Thor, and Captain America. 4. taken 5. down
- build upon : ‘~2 7/Bto2 Bick b= ojojolct, B 1.calls:»call
€Y It brought together numerous beloved vzl o e e
superheroes to cooperate as one team. 3. which - that
« bring together : ~& & 2oL} 2k= 2|0|o| 4. read --» reading
Cf. 5. Comparing --» Compared

@& Iron Man, The Incredible Hulk, Captain .
America, Thor, Hawkeye, and Black Widow

all have to learn to lay their differences aside A 1. not only his technique but also his signature
to bring down a common enemy. 2. from a wide audience, not to mention

« bring down : '~& M2{E2|Cf 2k= o|p|o|ct, 3. then later switched to helmets

@ The Avengers’ thrilling action and remarkable 4. on a quest to defeat Smaug
computer graphics resulted in multiple 5. for wearing disguises while performing
Academy Award nominations.
sresult in AL Moz ~F L} 2h= 90|
olct, (s

EEY [Itisrare for a movie sequel to be a box-office » Vocabulary

i, A 1 oAS2 S0 A7t AEGP| ol 2 7IhS 22 A
oIt is + QAL+ for A + 0RRAL: A7} (toR2™ 7 |CFict,
Ast= 71% (Aot 2t= <lojo|ct, 2 CHYS (HiX|o| XiZh) AHS Hiat 2EQ 5iH[3iCt

t =&Y
HiS= O HID] AldAlofA 2H0[0] = Ho|Lt g5

w
—
M
i)
;
]
_!E
E
—Ll
upn
=
_H_
m
'S
;52
iu]
rir
N
o
|'|_|O
)
>
o
i

Answer Key 15
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» English Usage A1
[3HAd]
1. 22l ot HS BHt 0|52 B2 AL 2
2 MSE0 oLt A= =]
3 J4= Ot Nadaas BRItE AIE &7(8n 3
ict,
4 E2 AUX|et= ref R 0| E851H siE2 o+ Q 4
Cf,
5, bj2 AZISS Hee Melwais nar) >
[3H4]
1. IPARH SRZIKIE LEUW=E AXZE SiXi2E(have+1t
JHEAN7E AASIL,
2 (Not only A but also BYOIN SAte] == Blthe
coach)oll YXIAZIC HHg SAF was?7t LTt
3. 22 A the facte] FAAR! UisE M%¥st= 524<
&AL thato] &SI
4 GSALT Foll it is7t d2fE YElE, 32| 2|oiQl uhA
EAf taken0| H&GIC
5. '~2 Mara|rf 9] ££2 IRl HHOR bring downO|
ESESte) )
[SHAd]

16

2014.12.5 726 PM I 0| %] 16

2 o1 =
® =%t @ 0197} SRl 2. Uiz U7} 208 ] % 0] Skjol Ustgirt
@yt @23 3. Of FThEO! ZIAl0] AUCHE MIS BRI
2 SIEEH 20ls 276k US BYMS WXNLE B 4 1R N22 EOlY ORI & A S0kl
& ZEopm = 5 2o TAST Himelel MMdse o 2 B2 Ik
OEEE ® ZHasts Jioz wele set
® Yt @ st [atad]
3. Bl JILIAOIM BIEARIS IS 2 Yt B 1. his two friends7k =4:017| TH20] S48 SAF calo]
20| B3k agte oIt
O vt @ e lict 2 DI EAIIAIS LIENHS A2 SHIRIES! have
® &t @ et worked7} 21212 EEI0
| oparly - 0l S5l HREE s B o 3 90/ BA the ideadl THIHRI LIBS ARisle Sl
2. insirument © IOk, BiOI2R 22 SokS BIS7| Bt S A nalo] HERiC
251 4 TEA while FOfl he is7t MEHE FE|ZR SXHEAL
3. solely : 9 CIZ 22 BEH 22 readingOl e
4 ploy  TI2 ATt OfEE @] st A5l ASE o 5. USES0] Fmsa s 20lBe, wse St
= Qe EAFER! compared?t HESICE
5. unheralded : O]l AZSX| =

1. Ho[H|=x OfL2f 119 & S5 OHY LofA| M=t

» Making Sentence

5t

Answer Key

—




CHAPTER 3

Humanities

Unit 1. Literature

Vocabulary Preview p.55
A 1.revenge 2. serve 3. break out
4.penname 5. journalist 6. murder
7. destiny 8. lecturer 9. throne
10. witch

B 1.a 2d 3b 4.e 5.¢C

£ o3
pen name Z¥ serve S5ICt
witch o journalist 7|Xl, X{E2|AE

lecturer ZAL 2Rt revenge =< 25
break out (%17, StAY) 2SI

murder AQ!

destiny 29, =94
throne 2%t St
article M27|A
model 2§, 22

compare H|ws|cH

Reading 1 p.56

1.0 2.@ 3.® 4.Q

character S&IE, 84 71&

tragedy Hl=

Visualize the Text
(1) revenge (2) murder
(3) took the throne

(5) Three witches

(4) his uncle

(6) the evil character

ie]
-

(RH=D 2t (M| A) S H| sk
UM HIFUC

|
0172, =401 2tef olof7|YLct ot

an

=
s

o =
H

mefstct a2iut E 7R 2 X0IEE QU

=
|

)3
i

ad

=
= O
%2 #al YrRLIC 19| 40| Hot=ol &

AnswerKey
O §210| OMHXIZ ABHBILICH fRkA $2I0 AEO| 2l0 O
SUCE 2212 0] AP 10| OfHX|S] FOREE| UH| &|m,

=
HEOIA =45 o7|2 ZYEUCL B2, (20
I.

4 1

2 9 r
N

Cf T2k 2HA= A 291 01! A 2oz 0|

| (UHAYE EH= THORA

EZER)
1 @ (#2)2 Melanlofol zote| eiZolcy,
@ (2D e olsls 1ot i Sistt

@ (a2 (A0S S0IEA| L]

@ (UH|A) = HAATIOS] F|10f &=0|C

o
L

o

I
N
M
i
Il
[nl

.
b

Ol 42eit,

%
2 Ot OEY Q=8 @=
revenges ‘24

vengeance, retaliation’ 0|ct,

3 3l NEO| OMHXIS ASIRCHE AMAS 2 En =4
sbl= Zac

Hamlet learns this from his father’s ghost, so
he decides to take revenge on his uncle.
+(and) so= (0lR, ZIHE L= S LA
2 ‘T24M 9 olojolct

+ At decide= to 2EEAE =802 ZH=Ch
(NOT --- decide taking)

« take revenge on: =245iCt

@Y This is because three witches told Macbeth
his destiny was to be the next king.
+Thise UHAT} ATSHE FS Moflst= A
= 7f2lzICt
+was to be= (be + to FEADHHCZ (O|E)=
olo|ict,

Answer Key
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Reading 2 p.58

1.@ 2.® 3.@ 4 @

Summarize the Text

(1) was the writer

(2) used a pen name

(3) had various jobs

(4) were loved by many people

(5) are very familiar to us

=D

0= ERII2 oie |t 0i=9] 2710|ct (& 409| 2eh=
OFAE= ZXIE AMO[of] OfF 217] ACE

0= EQIRI2 183501 EHOIRICE 1o ¥ ARY das
2eHA0(1 0= EQIRle a9 HHoldt a=

o EMA MmE AT AS RSN 4 HE QMAY
2 7IMES MR,

03 EQIRI2 J1of ™ Holof Z2X 2 tE

N URS 1 2 omEoR At YR
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T
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J= A0 2015 50 S0Vt 2T 71
O AEAUCE ot IEQI 2|1 HARE HJCH 1= 0[0F
7otz RE2E FHOR | R0 o2 2 ARRIS0| 29| 00|
== A= Z0Ri:
19| 20| sk QEE2 =AM iR st XA
2% HoIr} 9] AMs gfon Y2 HIE A T
/e g U2 4+ US Aot ANMZE J= AF A 29
TRl E E2INE P2 510 SIZH|2] TS DrE0HIct
1 9 29 FHe= 200

@ oi= EQIQIo] 7HHE XEs

© oIz EQQl0| AT T

B olop[ot= M7t HOH 0= E92!

@ of3 EQIRIe| 4t 19| XFE &9 Y QUEE

0f= EQIolol 4ot 19| ME £0| s&6h= =52 &4

= 2ol Uk,

=
O 227t 19| O[07IZ 2UAH3H7| =0l
@ 3= 7| U= 27| wh=oll

Answer Key

Q@ 2= w2 oefe HYs 7H7| ol

@ 2191 0[0F7[7} MDIUA7 | =0

0= EQIRI2 Olok[stk= xHF7t FOiRt7 | t=of OHe B
2 A—FS0] 29 ojop| =

rr

A= Z0R3ICt,

55

29 gz S01E 2= 71 Lo A2?

@ CE 2=s 71

@ =& KMol U=

Q@ g40| &2

@ Hizet 442 71

0= Effele] &40 S&ske QI=0] SXtofA| A=sta

9 20| 22 4 Yl 227
@ =2 E9012 Sais At
@ 0t2 E9iele] 021 AR HoAC

® Dfﬂ 510’-”%8 LS AN
@ 0f3 EQIRI2 S0|=2 dEEs At
013 E9RI2 T Aololl ZA B2 T2 XUSS 0| 1

While he was a teenager, Mark Twain worked
as a printer.
swhile2 &% FEAMZ AR FAES LEHHCE
cas= A4S UEUE TXIAZ2 ~2AM 9 9|
0|t

@&V His writing has characters which seem very
real and natural to readers.
+ whiche ZAIHEAKSTZA)Z HAL charactersE

AT

sseem + YAt realdt natural2 ESAE S
A seem@| HO{ Heks Sttt



Unit 2. Psychology

Vocabulary Preview p.61
A 1.scratch 2. hang 3. discover
4. fable 5. protect 6. assault
7. denial 8. relationship 9. defense
10. displacement
B 1.e 2d 3a 4c 5.b
& oy

relationship 271
assault =23 44
displacement Tx|, 015
protect 2S5iCt
defense 2404

familiar @/=8f, =g

refuse HE[HFI5IC

discover Z745iCt
scratch #Ct HACH
denial 23

fable <3t

hang oiECt
probably Otaf

crazy 40| of

violent ZH*{0!

Reading 1 p.62
1.@ 2.@ 3.0 4.Q
Visualize the Text
(1) become a wolf (2) alittle crazy
(3) failed to show (4) many patients
(5) assault hospital staff

Oi2i2 & tithe= oot Shlzhol chst Tlxer AJLch A
2 0[0F7[Lf Hat &0l B& SEoKIR. K222 off Stieliol
BEZ0| £H SU7t ==X a3l sk ol ASU7F? 28
S0, B2 AIRS2 28E0| EE &8 ViK1 ot 42t
FLICH 252 BEEH0| ASS A7 Ml Felo] ofL=S Bh=
Cho YAELCE B2 IRIXE2 AHE BEF0| e 29 Al
22 =0l sl A6l »SUCL 25 & tRE2 282
AlE2 s Aojof Ao Uth= RS o= ol it
SLICL SR 22 (a) SFOIMS| Bt S7l= FH 7HK| =2k
AAES FHo{iaUD BEZ0| LH HES2 O & L&}

AnswerKey

3 O 3Zaict
© giofaict
@ Hefoict
@ Efggsict
assaults ‘2z =8 =M™ o onjojm, SO0z
‘attack, raid OlCt,

4L EEZO0| Q7oA a2 F= Aol et 28t St ot
AR BB MA=IX] 2t HES ofdlof 2ot g

@&F Have you ever wondered why he becomes a
wolf during a full moon?
«have ever wondered= Sixfet=2 AlXZ2 &
= LIERHTE
« ZEOI22 (why he becomes a wolf ~)&= &
APEZ wondered?| =Z{0{0|Ct,

@Y During a full moon, hospitals got twice as
many patients as any other night.
« (A twice as ~as B)= HisAF H3C2 A= B
9| = i ~0|Ck 2| 2jojolct,

« BiIZ=AR= twice, three times2| SEf= 2Cf

Answer Key

i
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Reading 2 p.64

1.® 2.0 3.0 4.9

Summarize the Text

(1) are faced with

(2) is expressing your feeling
(3) protects you from pain

(4) making excuses
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0x
Qlok
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N

H foofxate=z

2of 7t UFLICEL B 0lF R3f0llM, HILE K7L =
A0 B SR Zes= LF0] =O0| DiER U
F= 20 £0] FA| E_ABHE TR HRs AAZ0HA
M HE= Olte S00| AISE 7ol 2fn Y3iELch

(EXET))
1 9 29 refuse®t 2Jo|7F 7H2E bIZBt 2427
O HEsIcH @ ~QI & atct
Q@ ZHI5| ~ahLhCt @ A=(sih)
refuse= "MHEslCt AHESICE o 9ojolu, So/0{2

reject, decline, turn down' O|Ct,

W]
SN
mn
=
=
>
<
o
i
o
[l
ne
I
£
™
O
=

2 12 HTro
g
EoUu R

rr

2 05 & Xz2of M= gojel Yoz melwX| g2 A
o
O2g Q45 QX @A == o
20z gojel gez Mx| 82d A 2 HoiE HA|
S AT

3 ¢ 29 2= T 2N FEY 2 U= A7
O KR= XRelof 7R ol 2SS & Ok AS HHRAl &

AL,
Answer Key

@ 0= £0| Holx| =S HEH2IE TS0 HCh

Q@ K= Ofi=0l Z=E B HX| RLRUACE

@ 0R= 227 HR AOM B2 4 glith= A2 DR
HE UL

LES HE 4 QW 227t AIFE ZAoj2t 2ojHi2l=

SOIANM, Xprlo] 7HE 4~ Gl thefoll ofsh HESt x|

2I3tS Si0d, 10f thisl o2Xel fiets Hed afe &

UL,

4 2 20IM O3 220| S0 ARZE 71 L2 A2?
=

= =
et gl Xt 2482
H

(i

guck

MHHA B2 EE6IH =2/6itis AMEES ¢7] w0l
oitfel Tyl RaLt = 0 A4EE HEESit=
LHE2 2 O[0{M0f it w2t 0T 289 L82 X

= (c)olct,

@Y In fact, your mind has ways of dealing with

In]

an unpleasant reality and protecting you.
« dealingZ}t protecting SEAIZ FX|AL ofQ
2xofo|ct,

€ But you know (that) you will get in trouble if
you express your feelings to him or her.
« that®2 know =H0{0[ct, SMNZ ALZE &%
At that2 d=f 71Sattt,
ifE2 21 RAEE ~BiTiH 9| ojojo|ct,
«if + 30 + SAHEXH), 0 + SAKO2H) © =
SAEOIM SHMAME OJ2HAIMIS CHAIBICE

@& Denial is another common way to protect
yourself from pain.
+to protect= AL wayE SAlols HSAKE &
Holc,
* protect A from B : B2EEH AS ES5ICHX|7|
=)
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AnswerKey

O EWINE @UsE QMESs @ XIS

p-66 C 1. denial : OfiE 20| AMAO| OH|7L} EXH5HX| USS Fie
2 defense : SHCZ22H A2 ESoP| et dis
3 fable : TEHEQI WES = MEMOI RS 0[]0

4 destiny : 0j2H0l F& Lo| LMK Z2Yolk= &

Vocabulary

A 1. murder

2. throne 3. broke out

4. assault 5. discovered 5. revenge : LIS FUE ARIS Eot7| st si=
B 1.®@ 2.0 3.@
C 1.denial 2. defense 3. fable » English Usage

4. destiny 5. revenge A [5HA]

1. S2l= 100 5|22 J4=I3 of=o|ct,

2, Liz0j| #st= 20155 0] 2ralst 24 2t
A 1l.tohave  2.likely 3. with 3. HERIRIE 2115t 2 X0 S=otr] B

4 while 5. be faced 4 L= 057} RHITS MRS S0t BE XY ANE &

HIBiCt,

3 b be= Dl 5 dlCEE A= 2XI9} HofR0) ezt Zolct

2. if --» while [alA1]

3. by --» with 1. (be to EHAHBYOZ oFS olnfsict,

4. like - likely

5. faced --» are faced

Making Sentence

A 1. his destiny was to be the next king
2. When the Civil War broke out
3. why he becomes a wolf during a full moon
4. Patients were also more likely to assault

5. You know you will get in trouble

EETT)

» Vocabulary

1. 2401 AZie Uik Fiof
2 0i200] 1 LIA YRH= RIS As

o
| F0| ke )

N
e
o
Jn
(0]
k=)
el
P oz
ez
S
30
:Q
iul

3
4, =AJ0] CHBH ROIBH=ZH0] 0
5

1. HoHI=E 7152 HIFS AMYXMof2t Act

2 3|EL= 28X 2ol Htske As H=o AR,

- =
@ Hlw3HCH @ AU @ R
7

3 1 7K dEHel 7IMEQ EXE Z25HR| U

e
HT
o
=

—

2 be likely to + SAIRY : ~& 74 2Tt
3. be familiar with + SA} = ~0f 2U=5ict
4~ S0P S onlsk= Al TSAR= whileOltt,

5. be faced with : ~0i| ZIHSICH

Ol A= 2ot S27iL 22 71540] QIICt
. dlo|27t Fele S0l =01 271 AIRfiCt,

1

2

3 0| ZEE D2 0| UE Hatn L= St
4 Q

5

e 2xS 0j9 2 MEtSo| Alpsict

[

=
__
X

1. {be to be p.p.)= be to SH2E 7

2 ooy ~E2F ofl siok= &AL whileO| R3St

3. ~of Ysaict of sidote ES2 be familiar with’
o|ct,

4~ 2 2ok of shdsts B3R be likely to OILf,

5. ~0f st of siele 2 be faced with' OICk

» Making Sentence

1. Ol= Ml OHA7E HH|AA 219] RE2 CiE &0| Th=
Z0[2f 1 LSHFRAT | =L
2 HEIH0| YHAS 1 O= 40| FOISE O5S B
S0 FTACH
3 OfE2 9 S0P BEE0| LW SO} B=X 3
Answer Key
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=ofl okl X0l UGLII?

4 Lot EEE ol Hof HE AESSE o SZoke d
&g ERsU

5. M0l Apale] dEE HEESIHHE G422 280 M
AYUS Y0 AL

CHAPTER 4

Social Studies

Unit 1. Laws

Vocabulary Preview p.71

A 1. commit 2. terrorism 3. offense

4. organization 5. athlete 6. illegal
7. exchange 8. prevent 9. criminal
10. religious
B 1.b 2a 3e 4d 5.c
& o

criminal HZ[X} organization 7|7, 2%

commit Hstct exchange W2foiCt
illegal =&9|, =&l
athlete 254

offense 2/gt

terrorism H22|&
religious Su !
prevent 2T} OIS

ban X[t allow GIE5ICtH

test A, ZAE crime HZ|
impossible 27+t
Reading 1 p.72
1.® 2.0 3.0 4.3

Visualize the Text
(1) steroids (2) prevent steroid
(3) 20,000 high school athlests

(5) 90 days

(4) 30 days

(6) be banned from

Answer Key

= HARAOME, M22 YE0| SHt=isUct goll olotH

o U=E PHS0 FUCEL SHXEt (a) IASE2

Ot M22 g2 15l 23t4S Moo AHZ0IE ME
= Olgist| ffol PEEORGUC A, BIAIATE (b) 252 ¢
of AHZ0|E HAEES Aot 2|29 &= OfgLT 2006
of FMXIOIM ZEZ HAES HARMGLICL S BlAtAE
ISSHEE thdez of T= Zof 729 HAE D27 A
gt AYUCE (c) A2 22 F olde] n5shd 254+50]
AHZ0|E HAES =S & AYLICE 222 fRtof CHalM
= 23U4S0] 30Y 7 25 Sh= A0| i8R e XY
LITE & 2w fEhS ofH, 052 902 ¢ 252 & &+ els
AYULICE M B (d) fIBIS ofH OS2 28 d7I1E ole A
0] SE5| SAIE AYUCE S B2 ARFS0| AHZ0|= HIA
EES XIX[ot AT ofX|2H HIAES] HIZ0[ 71 2 =MY
LIC) oF ¢ HIAEES of= Ol 110E2(0lM 1752 247tK] & 4 U
gt

1T @) - AHZR0=
@ (b) - 158N 2StLE
@ (o) - wAAle =02
@ (d) — et
(c) It2 Texas's high school testing programZ 7127
= ojct
2 O At © SR
@ 7|AJCY @ HEC

ban®2 ‘ZXlott o ool S2/HZ= ‘prohibit,
forbid O|C},

3 O AHZR0IE AZS 27| fIiM
@ Y= HEXIX| 2271 sl

AHZ0|EE RIS of202f HFMe8, ofs MBS

4 "AHZOIE HAE oM Sh=0l HOZI0IM 1755217

=
- Af = Ui8e=2 HIAE HIZ0| dFs] HIMCE = X2
(=)
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2 oy

@& The new law was made to prevent steroid
use among high school athletes.
* was made= IHAIM| ~SEHOICE
«to prevent= REAE FXS LIEHDE (= in
order to prevent)

@& It will make more than 20,000 high school
athletes take a test for steroids.
*make + =801 + FXHEO : AASAF make=
HYREEANE =HEHO=Z 20
- takez HFETAE make?| EXEM0|CE
@ For the third one, they will be banned from
playing sports games ever again.
*will be banned= O[2HA[X] ~SEHO|CH
« they will be banned from playing ~ = -+ will
ban them from playing ~

Reading 2 p.74

1.@ 2.0 3.0 4.0

Summarize the Text

(1) the second largest

(2) 188 member countries
(3)in Lyon

(4) exchange information

(5) drug dealing and terrorism

(6) illegal to get involved in

<D

71X SEM, QIEIZ0] thall Zoll FAIR?

QIHE R SE0/%. QUEES2 IFMSAFET IR

nternational
Criminal Police Organization)= SSELICH QIEES RS A|
elet= AlMoIA 71 2 =AI71F0[X]R, 20104 SKiZ, 2l
EZ2 188719 sla=s ERatn QEUHLL 120 2R 2
A0 2|30 UBULE T[E2HCE QIEIZEE AMZ TE =710
Mol gEo| M2 gdste Ag SaUth AL HAXER2
A2 CE QIEIZ 3|E=0N B2 HAISE MXIEXR, 2E §

=s2 0 =AY HAKESS g/Ask| ?fcl M2 YEE 1

30

e
>

i r

pal

-

AnswerKey

SIBILICH (2) J2K| 908 1SS TE 20| BT A& 3

XL

TIxE (b) QIEIZS Oft R0 HAIS oK S U7

QEIE 2% S 25

LIk 92ke ZZo| f7iLt ZRE slofzy
3

72liLt Hi221B01 thgls
t

A 2 UAEE SXQ. ot 019
MR7|&= ST shRIZE FRIHo Y

A2 =YX,

EEER)

1 QIEIRO| Frl= RAOIP
@ |0l THst ABS
@ A2iet HFE YIS
@ zlolst TAEO! LIRS
@ 2riZEel Folet o
QIEIRE Safh ZrZRo| X5 HEt 120 oRE MY
Bt Ut
2 92 T (20l THE U SIZ0j=?
@252 @ JK| YoB
Qo2 s O 22y
HIZH (2)o] YUIBS HIXO! HAKISS 27| YN H
DS Btk = oL, Bt 0182 158 x| R
7 Ol2te LIBOITE miap Bizio] LSS Bief i ma
2 BI%| H=CiBT 0] Jhy Esict
3 QIEIRO] Of5i8, Apo] 0fHz2?
@ QUEHZS AP & B 2 27 |70(ct
@ @54, ZFE] WAL 1 25t BRIl HA|
@ QIEIZ2 0fo} Y, El2ials, BI YA CHstol Mt
ert
@ QIEiZ0| 5|21 2IIS2 1807H 0l40ITt
9 2004, QIEIZO| MR, £ ZMA 20| ChsH A
QUst= 242 FXIECK 1 SF =R
4 9|2 HIzH ()0l 7K sk 227
D Of=H| 3181 QIEIZ 22I0| B 4 AULR?
@ QIEIES ot ZRO| YIS shst HS SLIL7
@ OfH 0] Bofste 20| 9 SEOIIR7
@ BRI HAE BB Yl 0IRE RoRIIR?
ul B oz TN HAS st 9

gl__\
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oy M
s [0
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Answer Key
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@& Interpol is the world’s largest international
organization, except for the UN.
- except for + HAKA) : AS H|elstn
« 7ollo] TR 2 =A| 7150|1, QIHEE £ BN
2t= 2ofo|c,

@  All of the member countries exchange
information to catch these international
criminals.

- exchange information2 MEZ malsict 9o
|

£50]17, information2 SEETAL E= E430| =

7¥sict (NOT 4 ions)
*to catch= SHAIZ SX{(~37] fI6to)S LIEt
'HE,

@ We help the police find hackers or people
who make computer viruses.
*help + SH0{ + SHZ0(EZFGA, to 2

» who= HAILHEAIZ HAL peopleE +AISICE

@ Butitisillegal to get involved in political or
religious matters.
« it2 712204, {to get involved in ~y= RIZ=0{0|Ct,
« get involved in + BAL: ~0f| Z0o{5iCt

Unit 2. Social Issues

Vocabulary Preview p.77
A 1.bully 2. pastry
3. vending machine 4. chip
5. responsible 6. obesity
7. fried 8. laugh at
9. junk food 10. yell

B 1.b 2.d 3.c 4e 5.a

& 0¥
vending machine XS0 obesity H|2t
junk food &3 #&= bully 2IEdl= A

yell &kx|ct responsible M{X|=

Answer Key

-

laugh at HI2Ct ESaict
fried 7150l F7!

avoid Tloict

scream H|ES X[2Ct

guidance X|&, MLy

pastry To|AE2]
chip 751 22 W ZXt &
choose 2rf MEd5iCt

quiet =3t

Reading 1 p.78

1.0 2.0 3.@ 4.0

Visualize the Text
(2) fast food
(4) better food

(1) many countries
(3) video games

(5) the vending machines (6) exercise

f

Yad H|Zk2 B2 L2lolM 2 2HAH2(0I0 (a) HIZkE B2
4 EHE goZ 4 V| =0l Hziet ZA0IT. oZIolE2
HECH O 2ol si22 SAES H e, 252 g8 H Al
0] =1 UCE (b) ORI0IS2 A, At Fl, A=, TAL
S5 ot 2 U2 MAERES U= (o) 0=I0IE2 Eof
ofo|AITE] =EA, BISRE, HAL & I W, J2|0 Al &
2 s Zofeitt. (d) ol SAE2 of=2l0IE2] MEs= =7
DHED QUCH LBl B 2 AIRES 252 Sl Bt a8
= 2dl0] A0 22 H|T2 AYE sl= NS S0y,
ZARE Yol RAORUALE TVE E= XS Z0eiCh 1f40f ol
OlE2 2=€9| 02! Ol0|ISEL} 22 sS4l o &A 2,
5= O ol At
of2l ofolSoiidl Mdignt FRHO=HEEO| X|=Jt HRSIC
Jse ¢ U2 sAs Y S Tloks AS HiRIof eftf. of
WS Eot AMAZS ThM0f eitt, sfuol AV [S2 AMZ0[L &
Y 22 ZAE T2 WOl TSty 2ief stwof XY (7t ¢
CHH, OS2 ZAES & 4 glff. sfue 2252 010[50|
ARx FVIE ol 25 O ol & 4 U=E SiF0F Sitt,
00|52 ZisHof eIt
(EXTETE))
1 O &3 Fe0| 2y

@ st digol At

Q@ FAH H|2H} il Z=

@ FAAS HIRGI Mes Cfet SAS

9l 22 HAH diRto] Hziyut shZ2A of Bt S0tk

i
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2 31 QWY OF @Y

guidance= XIE, 7iol=atRl o onjol1, SoNE=

‘advice, tip O|ct,

3 29 0f2l0|S0| @529l OE0|LECt sz A O

M| oin, 252 o 2ol 3t
4 [upre o2 oy 2AiE Uod 4 o] o) ozt

= X[0]CH,
FOITI 2E2 H[gteZ 15t H2Igt Auf 0|1, H|Zkel A

elo| == LHR% | (a) O|FREl MAIECE w2t 0T
0

@Y They like to play video games like Play Station,
be in front of the computer, or watch TV.
«to play, be, watch= SAt likeQ| EX0{0|1, S
| TLAL orof] HZECH

@Y In the past, children ate less bad food and
exercised more than children today.
* A less 8&A} and more than B : blug E3

@& They need to learn to eat better food and
avoid snacks.
*to learn2 A need?| S&{0{0|Ct
10 eatdt (to) avoid= learn?| =X0{0] oot
ot RgAME Al §20] 7| iz XS

T o
7K 4 9k

Reading 2 p.80

1.0 2.9 3.0 4.0

Summarize the Text

(1) was not popular

(2) did not want to play baseball
(3) he could run fast

(4) let him play with them

D

OlEl2 1240Ict, 2= S2AVF 25 ol Wiz et E=

-

AnswerKey
K| UTE (a) 2= OF1S Y S0BHXIEL Btwol T2 0fo)
S Mrjz 19 20| ZyI5t AMOfaHR| ith 2l stio
MEROIICE (b) = B DIEIS DIERCE = MRt OfEl
S HIRo0, (o) L= 0FRE B17I9 LIS SEa, mxisizil 2t
L JHE () 2= OIS o7 |E Rk OIS o
et orom
(B) Of =, 2 Ho| IX0ISO| 0FRE 5t1 QUUCH DIEIS
OF0] 74o¢ SaiQitt I £ I AJS 1 AUS 0|
Rick. 20| OIS =9ITh 74X, 0] RO Sn = Ael

cL "2, oI L U Sesta 2ol
o 2 (ol

X2t | FFc 212 2 77100 AKX, 2= DiES
= & QI OHE2 Oft BVIEE Ml HIFLE SRUACEL M B
2 S I, O 25 0l0|S2 & HI0IA0 A UUCH " Ot
ME0| & &= 7{ofl"stn OHEl2 2ot "2kl OfF| &Uct
0] SE=0H" 5t 2{0] AR,

(C) "2 ¥ Z=2|X|of, 2" CHE 010IS0] ARIF T "R2fu? 2
o O SEY H0[0E 5 2I0] ”RC "1 o= HY W2l g
g = 01 22 27t 22| Holl 0122 al,” 250] YR
HslS2 1 ofH L OFE & 4= ol 22| = Cf oli=
Rofl. AEsh” 20| A2IFCh "YUAC|. & OIS MEHE 7ot
JI2HT 2S0] LUCH O 0FE R, 22 Ciil= 25 o
2|X| LU

(EX T
1 9| 20 U= 7 SEOIN HE WX %27
OEERPEROE

(c) You= Rick(2))0| OH Martin(OtE)S 72|71,

2 9320

f
@ MpRiCt @ FzEict
Q =E3ICE HIRAC @ =HJCt
laugh at2 HIRCY 9] 2Jojo|2, S|H{2= ‘make fun of,
ridicule’ O|Ck.
3 OHEIO| OFF&0] HOi2 O|R2 T Yak2 A2Y

O 2= 20t M7 IS HIACH
@ 3= ol 7| s g B,
@ 3= O 7| B= XS #L

@ = e AE850] 0k B7| st= A= BotA| U,

Answer Key

—
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OHEI0] OFLE0l Z0i2 OlF= TA| 21 0F 715 B4 4f

A7| W=Z0lc,

2o MU= LEe A27?

o
rir
2
4
om
lo
o
©
fin
o
=}
i
o
on
lo
4
0x
o
f
ne
o
n
ro

G You are too fat to play baseball.
(oo ~ to )= HP~ohAl = 4 QICk of =
olc,

= You are so fat that you can't play baseball.

He only wanted to watch the game.
« SAF wantz to FEME SH0= 220 (NOT--

wanted watehing )

“Don’t touch him, Rick!” yelled the other kids.

« BYHEAHZ2 do not[don't1E 24 H A0l 20
~6lX| Ot =2 ~6lX| 0L 2= FXIQ
= LIEHCE

Unit 3. Global Issues

Vocabulary Preview p.83

A 1. disaster 2. sealevel

3. rescue 4. environment
5. trap 6. underground

7.volunteer 8. temperature

9. polar 10. thrilling
B 1.d 2c¢ 3b 4e b5.a
& oy

o

rescue T&(T=)5tCt volunteer X+ AKXt

disaster Xt

thrilling &=¢f E2==

trap 7F5Ch tiee2|ch polar E=[E=12], SX[2
sea level si~H underground X5t
Answer Key

-

environment 24
save T-=oiCH

urgent 7I5et

temperature 7|2
injury £, 1ol
melt =Cf, =0|Ct

hazard &g

Reading 1 p.84
1.0 2.0 3.©@ 4L @
Visualize the Text
(1) trap heat (2) temperature
(3) are melting (4) are rising
(5) Electric cars (6) replace

=D

(C) XIFte| 2ty U2 9ol AHstn s 22 =9
of 2l 24 & olLE, 5ol NSk SH2RH Lis= It
A7 @QAAYLICE 0] 7IASE X 700 Bg 7I5F0 F=
o, ol AR 2AMsIf ety SN X729l 7122 MSstn
U0 3 Aotz P2 50| Lol AL

(A) OIE EH, FXEe| Y50| =11 UELICE 0l T ROl A
= =250 2 A & Qo= Zig Qolgich AlICHt of
#HE O|TECH g245] &0t USLICEL 8 & Alojof, &
St A AL 22 Siofo] = TAIEE2 =0l & HE
S s

(B) 2L, MHS2 2HME siZst| ffsh =26t UASLICH,
o
L 7

(EXET))
1 © figet xiel &
@ Ol HX| ZHQ| Ciet oIS

=
22 =age| Hel 2ot siZ2Yer of &tef 201,

2 OEE @I18s
hazarde ‘?I1& ° °Jnjo|1d, S9/0{2&= ‘danger, risk,

threat, peril O|C},

—
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AnswerKey

3 DX ¢eH @ Akt @osE sH @ e UELICH A2 Kot ool Z6iM, 252 B2 o] A6

X|7e| BtAo| x{et {0l st o2 2t =1, 2 X4t SUCE 24t ¥ FFES ol2itt s & dRUsLICE O
S250| A ZHolets Ant s AES FIHER! of et oI5

A) et MAlE O] dR&S F=0617| el M=2{0

2 51 Qleoz dIZtol= furthermoreZt £01710F ik ( b il
Cf ™ MiAQl oteiXistt 7IsXiS2 258 Fol7| Sl RS

4 2 29 =Mz O 29 Y82 24
Al (A)E 2450 Zaof et oAl (B)= =Al siZol

4

=

oot AlEQ] =2e= 0|0{M0f AIHAFHT

on

HoF & X Z2Fst/| flaliM gitaUt iUt =2, of=
L|

of
ElLf, got=Ea|7tE Z&fet L2tS0] AFESAKED 7Is, =

= AHEoiREUH. FEAE2 a0 2ot JIASESE V1=

St BHEHA Alts BRiELICE
(C) O 2 T2 XIYUSMAIER Z5EE0| MHE RXE 2 9
@& This means (that) animals <that live there> T2 ZAtoz SAIS HoEUALICH Xt 2+l X| 69 o
may soon be gone. o, RE FRS0| DHEY TRESUN. 1 g2 M 22 of
* (that) &2 SAF meansQ| =X0{0|ch =X0{0] SO 7|® SIEEALICH T2/T 0 AIS ARRIS0| SES Bt
Al S5t thals o5 JfSolt 0 & 4 QU US HOFISLIC
* {that live ~)2 ZACHEAEZ HAt animalsE
SAlSIC CEEER)
@& One day, this could replace coal and oil, 1 Os 39 28 718 2 UEU= 55927
which are very harmful to the environment. O 2 Yol dl esofet (BHElE FE=T AUz
swhichs BIAIHZAL AIRE S0[m, MatAR= © Al S R,
coal and oilo|ct @ a7t vIE o AXE Yt (7187} 2w Eotet)
@ AkZ0| EoH vzt AtoZ 7iCt
@Y The Earth’s temperature is rising, and many 2i3f0] TA| 245! O/ 338i0| LEES Bre AfRKZ0| B
things are happening as a result /oA SIS LHROICE Ti2tA 9 2ol 71 MEs Ag
« SAlis rising, are happening= ixH Zlatiad Al o ‘wix|zlE QKS0t Uik o|ct
Xlo|ct,
2 2 29 urgentet Q0|7t 7+ HIEE AE?
O AR =5t @ =Xt oR U=
Reading 2 p.86 @ ae . @f_ﬂ%@
urgente 7%t AIZ8F 9 oojolz, SoE=
1.@ 2.0 3.0 4.® pressing’ 0[&+,
Summarize the Text 3 9 29 Uiga YRIsHK| = H2?
(1) drew the world’s attention @ Zelle] B Moth= T MAl Sl &8s 3
(2) got trapped in © WERET0| FESS 7x6k| sl 2 EX| 2F
. . ot7| SloliAl FHRIC
(9 tried to save miners ® TEAXSS IS0 LR IPISS 7/Eskm DSy
(4) spent time on building AZIS Buich
(5) were saved after 69 days @ DE PRS2 T5HoIH 69US Hh S0f OFEL P
(6) was thrilling day olct

Bl

SIAE2 7lektEn e 4RSS P& Rl M=

(B) 2010\ Zzilo A Xish= & M| ARYSC] BAlS Bl 4 ¢l 25 YRS MU= LEet 2427
LIC}H 3399 HEE0| 2 000LE X[ote] 52 27t 25/ & (B)OllM 2010 &4t XifsHof Cier MEFMQI AJHE St CHS
Answer Key
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(AOIM 252 fler 712 A, ox(2ez (ColM 7= &2
1ol et gz TIHE|0{oF AIAAFLCY,

@& Scientists and engineers from all over the
globe worked together to decide what to do
to save them.

10 decide= RHAZ ZX(~5h7| f/610)= Lt
EHAC,

+ what to do= 2EAHE decide?] SA0{0|ct,

EEY Rescuers spent time on planning and
building the machines that they needed.
*spent + AIZHA) + (on) ~ing(B) : Bak=0| Azt

= AlZFS ELHCE
+that2 HANHASXZ)Z FAF the machines

2 pafsiCt

@ Trapped in the deep underground mine,
they faced many dangers.
«(Trapped ~, £ + SAh= 58 BAHES
2 being0| M= (AL

*= As they were trapped in the deep ~

Unit 4. Ethics

Vocabulary Preview p.89

A 1.depression 2.take action 3. guideline

4. tend to 5. murder 6. anxiety

7. explanation 8. suicide 9. ruin

10. bystander
B 1.a 2c¢ 3e 4b 5.d

& 0%

ruin x|C guideline XI&!

anxiety 215 £¢t depression 22

suicide Xj&f take action =X|Z F[6iCt

bystander &&X murder ¢/ AfsH
tend to Z&0| UC

explanation U
monitor &tH, ZLE

o
hateful &222{2

Answer Key

private At 7212
hesitate F=xIatct 2-Ho(Ct

victim TG}, SlRt

Reading 1 p.90

1.® 2.0 3.3 4.Q

Visualize the Text
(1) Hateful messages (2) suicide
(3) telling (4) set guidelines

(5) a public place

2| 25 L1 ARO[, AMo|H Z22 EUoM Hziet 2HIY

- =
LICH EAOIEYS] 522 7ISE HAXE B2 A—FEY &2

st UAELHCE 0] = Ol0IS MOloIM & o AZEi
Ct <2| 0l0IE2 st TS0l tigh AZE HEZU, (a) 2
=2 HE M9 ARl ARRIE 28U XMz f22M 22
7t (b) O ZHIE CHFO{0F eittar M2 fgfLch e FRELE,
<el= OloISolIAl AtolH =342 sz Hefoll Chsll 7=t
gUCH AfojH =22 TeliAEs =22 ?=5, 28212, o
20z Aol ol xokAl gUCh Rl= Ef 0fo|SollA
50/ (o) A0l thelsle AsS HE + ATk AE 7IEN

S0i7 oloF7 oA Azt
OI=ol PHIE Siell fel=

=
LCH 250 220l ofEA ARtE ELH=X] 0j0
o =

N
o

ro Ao
m =
s U
mt&l'o%
2w
:l_|E‘|>
o 0
o O
&~ =
oz
o —
T v [HO
a o |
m 2l

=
o A

In
oo oM
o

1o njo
Q'H
Ir
o
°
fun
2
=
nE
w Mo
k]
A=)
il
il

%
1
ok
N

RALH,

_‘_O
uy
rlo
5
g
JH
J®
10
40
o
0x
o
o
k
o
o
>
al
im
mn
°
-
=)
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AnswerKey

Q) - Ao =5 @ (d) - 2=/ 0l0IF
(a) They= o E&9| Our children(®2] 010|E)E 7t2I7ICt

f

2 MESEE2 SVt S22 ot o IRIS0| =2 A
3 =R0l= XY 27 XH7 &7 1= 2! 230] st 0 Ol2t Z&Uch agjut Ukt saf off = 152 12X
Op7[5hl, ZAREE 02! A=0| 2l Ai8sk=s R0l & XS A2 £ UBLIDE 0[A2 B2 AMS0| 2X(0l M5t Als
XI5t QUCh XAl 2Rl =2 H|UAEA XHEE= =ZotX|2F T10f CHal OFRE= O diES FGHA| ¢= HE 2
A2 =X eLUATE SILICE 1964E0] Lot 7|E| MieH|AS| Aldli= BT S1t9]
_ _ OHs} AAZH 25LCH HH| A= 5= 2|0 &
® S3] 00|Z9| OIFE 93! o B M I O 307 HRS WU, 1S
2H=O o =] =1%| OtOFA o
@ FR=0 ES TS O 2 AHE2 237t =2 W7HK| OFR A= S| LUELICH ofE
=o 15 i=1 2= =1
® 00[S2| FA WSS ol A 52 S0l XEt NS SX| %S 4 USTie? ¥ JHel
- B _ MOHQ| OlAL|ICH ARRES2 [ O] Zz| &M ROlZIS X7
S E2 02 + IR =2 7H0|atm Aizist
- L7 252 o2 =2obt 1EiXE =2 Z02im Azt
LICH CIE Olf= URES AHE2 F2l 42| OHE AEEANE
ASsE| HEYLICE B OFRE LEHRIE SAI E=rhH, gt
= LRhAE 5= Ae YEY 4 JUsLOL oREfez B2
@ We should also teach them that they can _ _
v ANRAEE O50| =t 2 W o™ Uo| UHHXIE FeHHe
take action against it. Lict

« =0 + SAteach) + ZFESHM(them) + 2T

SX0](that &) CEEER)

« ZEA} should= ~al{of SICf 2f= o2 ofod

(6) if they try to help

1 ®I29N=e=2 Thy goe A=2?
Bt 2T S LB, @ Rt FR 22Q17K7
« take action : "~0il CHato] Z=XIE ot © SR 5710| HAIS
@I Talking about how they are spending their @ YIS0 o8| LlchXIE S=717
time online would be great. @ YRt 3k BIksh= 24
« 259| 0= SYA} Talking0l SAR= would 7|El Mict|A| ABHE o2 S0 YA St LojLi=
beolct, 0201 ChisiA Mot QU= 30ICk
P HBSIEE how they are spending their e 5 o) zof hesiiate to{FBICHEt OlDI7t 71 BB X2
online)2 FXIAF aboute| =X0{0|C, @ 770| ~3ict @ Pifsich
Q@ ~g A £t @ MAX|CH
hesitate toe ~of= & A0ICt FXfsict of ojojo|1,
Reading 2 p.92 59|02 e reluctant to'0Ck,
1.0 2.0 3.0 L@ 3 9 29| Yt sojof tist dEo= X 2 A2
. O MHE2 =20 ZRsitn LK kg +& Ut
Summarize the Text ® NHSS T2 NeSH BSsis Z8ol At
(1) the bystander effect @ NHSS TFXIS OfZA =8 4 USK| BE| 2
(2) someone in trouble Sict,
(3) There are some reasons @ NS TE MO TRIXIE =2 A0(2tn H42IBICt
(4) feel less responsible WAL Sok= CFE AHO| LEHIAE =28 A Olf= 2
(5) do like everyone else OE AER MRS S Beas 5t 22 ds2
Flotdl= 4E, & LliXE =2 F o5 27s8 Yol &
ot

= & ATt H mZol Lok

Answer Key 29
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o)

2 29| 2IZiol S0{Z U2 T Lo 127
O Aot} 22 ARS0| 220l UA=7t

@ off McHIAE A% HEES HR=ot

B o dE= HHAS ZAGH=T}

o
@ OfEA #1710l M3t MHE SXI
AIHE0[ 7IE] M=HIAS &X]
Foil olofx|==, HiZiof=

E=R=N

o421 7kX| OlF7t
0L AIZS0] fI710f X3H At
== &=0| S01710f eitt,

= = =2

[=2PN [
US 4 UAETF B

@ Most people believe that they will help if
someone is being attacked.
« thatd2 BAEZ believe?| SX{0{0|Ct
2 2 BAIEE '~ 9] ojojolct,

+is being attackeds SIXf XI8iS 4~SEHO|CY,

The murder of Kitty Genovese in 1964 has
been studied as a famous example of the
bystander effect.

* has been studied= SiletE +~SE[O|CE

= 301 + has(have) studied the murder of

Kitty Genovese in 1964 as a famous~.

p.94

Vocabulary

A 1.rescued 2. commit 3. explanation
4. hesitate 5. laugh at

B 1.® 2.©@ 3.©

C 1.suicide 2. criminal 3. disaster
4. athlete 5. obesity

A 1.Born 2. will be analyzed 3.do
4. to think 5. which

B 1. will hear ---» will be heard
2. wearing ---» to wear
3. that --» which

Answer Key

4. Surprising --» Surprised

5. kept --» keep

Making Sentence

A 1. will not be allowed to play sports
2. All of the member countries exchange
information
3. should push kids to play sports
4. which are very harmful to the environment
5. Talking about how they are spending their

time online

(EXET)

» Vocabulary

A 1 X MEXISE delZER PRI
2. GIAIS0| HAEEM O M 2IE Ealtin d2b=ct
3. 5 F=0f et 2alet HH0| gl
4 2oF G40 of B2 FEIH ERoITH LofA Hetske
NS FXotx| of2f,
5. oilZel= 27t OfsliskA] X6liA CHE 0f0IS0] 2EE

N

w

oA
o
re
rlo
™
oy
2
hl
[l
i
40
o
(@)
il
kl
ng
rr
n

. suicide : Cf A71 AX| R0tk
. criminal A

. disaster : X3 SSHO| 7Tkt OlshiE = 1
athlete :
. obesity : Z44GHX| 22| DH?

HO
Ol
o
g
x

oy
_Ovﬂ
rr

g N ON S

» English Usage

A [5HM]
1. A20| o] W= 7HAl= A=S
2 Oiiiikfol ”W FEAE
N7

0|t
3 Adek= SAl 27K Satofat

= OF Z0feiTt.

rol

It

—



4 2= M2 ZA| 0l2{8h ZHIS0] thsiiAM dzist Heot

AL,
5. gLlo] iot U= ARh= BB o,
[att&

1. +SEAMFE Being borndilA Being0| AZF=|RACH

2 ({ZXA} Zupt 245l= A0|=22 O[HAR +~SEfR!
‘will be analyzed' 7} LStct

3 ZSA FHoll= BtEAl SAFEES 20t
do 7t Yot2 mHo|ct,

4 need’t ESAIZ AIBE M to FHAE SX0Z 2h=Lt,

5. MATL the chair0|22 ZACHEAL which7t SHIE

mslo|ct

2k ‘should

-

[HA

1. DIZHAIK] SEf ESOZ will be heardZ LT (will
be p.p.)

2. neede= to FYAME SH0Z =L (need to wear)

3 HAUEA that2 ALA BHO=
which7t 252 HJ0|Ct
4 Ao M =2 JE0IER, ASEAECl e

Surprised?} 2HIE HE0|CH,
5. ZSAt should Flol= SAHRE(keep)0| LI2f0F

MNE|X] =t

gl
o

» Making Sentence

A

ﬁ
mjo
ol

1. Z|=9f 2fgtof EHBHHE SE #% | 30 7t 25
20

2 =HHel HERE2 7*7%# | $|oH 2E slE=s2 M2
YEE wetglct

3 Sfueo BRS2 010|50| ARX AJIE 5l 25 O
o[ & 4~ A= SiFOF eitt,

4 Ol= 280 OFF slfi22 ME MRS UHEY +~ Us
ALt

5. 50| 22tRl0ilM 0EA| AltS BUi=X] 0[0F7[sh= A
o] Z5Lirt

AnswerKey

CHAPTER 5

Science

Unit 1. Astronomy

Vocabulary Preview p.99
A 1.solid 2. simulator

3. solar system 4. hydrogen

5. float 6. exhibition 7. axis

8. firsthand
B 1.c 2.a 3.d 4e 5.b

9. core 10. rotate

& o3
solar system E{7| axis &
core el & float mH7iCt

Al
solid TSt 11X|9f

exhibition HA|Z]
| x4
=,

rotate S|X16HCH
simulator 2oAS &X|

firsthand *I&, Hj=2 hydrogen 4
surround SSMITE, O KMITE surface 2 25
revolve SCf, 2T6IC pretend ~2I =5t

affect S 0OIXICH

Reading 1 p.100

1.@ 2.3 3.@ 4 @

Visualize the Text
(1) ice rings (2) 95 Earths (3) hydrogen
(4) 175 degrees (5) 11 hours

@X

(6) 30 years

Sofl aHES = &
A7 XL e EA0lA
01z 020l EAS =

M X2l 9581 SAIZE LIZLICH ESE (a) 0] o] Sa=2

Answer Key

—
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aHo=EH 60t Z=0lELt gUCH (b) 0] 39| ALt 37|
Ol= 276tn, 22 Aost 90 & += USLICE
HIZ (c) O] &M0| thEE 7[HZ O|20RF7| EYLICH HIZ
IHEZ ORI sho| UAX[ZE O] Aol LIREE AR AF,
T OZ J7IHIE2 O|R0FELICE E5t 0] #Mol 2= o2
S (d) AHRE)S M Fot 175271 W4 4= s cH
0|72 EX0| EfYoREH 012 H7| HEYULICE A ERY
S

Sok= o= ef 300] ZELIEt,

U

IO‘
T

(EXET)
1 @ 7chet @5 A= Z1st7| fioh
71

@ EMQI 24PN | EQ% st
= 7

@ H E‘éo o4EH T 7I%% R=CIRE
0= EfYAIS] Edof et R 7| =2k EdEs &

Yot Ut

2 EH0| X7t 95HH 7

The 22Xl et otge gt
3 @ ~of Bty @ ~=0]
@~z 27510 @ ~ol2lol=
HIZh of 2R ‘=4Ol 5127t 11ARIN icf = £l
S| Bt 201D, YiZiof sists 2% wat E40 3
71 ofl 28 LKROICE w2ty ¥IZE2 In addition to(~0l2lof
)7 A
b (@MO)= 25 242 JlI7l= Wol ()] it2 252 Ik

ru

IC}

2 8y

@Y 1tis so big that it weighs as much as 95 Earths!

+S0 + HSAL + that T + SAF: 4P ~3lM
5ict
«{@s much as e -0F AdHx 2K ¥
Aol oz £2 Ug LIEtE ES0IC,,

@EY Despite its enormous size, it could float on a

big body of water!
* Despite + AL : despites MR ~0|= £
5k 9] £=01Tk (= in spite of + HAD

@& In fact, it takes about 30 years to revolve

around the sun.

Answer Key

-

« (it takes + (AR) + AlZE+ to SAHEEHE2 Al
S UElH= E30|1 22 ~oh=dl Alzto] 2

2ick olct,

Reading 2 p.102

1.@ 2.0 3.@ 4.0

Summarize the Text

(1)a science museum

(2) the flight simulator

(3) my weight changed

(4) different levels of gravity

(5) Getting firsthand experience

orr o
g
2
~
d
Pl

Ir Tt
1S
1x
mn
ruo
H
30
EE
j

Nl o
=)
= o
% M
o
> 0|.r|
rr mjo
L3t
il ;E_z?é
ol
o [
mn
i~
%g i=}
¢ I
o i
o, 1=
~ PoHo
SO0
—_ Q,H =~
& O
B =
ILCS;
N2 R
0 2
< |fo o

0]
N
02
x T
10
o rlo
1
ro
o 0
o
n
ox
I
SN

N
ro
JH] ru rjo ofp
Oo\l
0%
=
z
mr
k=l
-1
=}
=
HT

o
Ct S2A7F 0| LR,

g
>
z

ol M= 719| 100z2

Il

2240] SIAEICH XT0IME
Sl 0 A IROS, (0) Brsolat
= M= p0Zlza2E of LZHolR. (
U OMEEL E0IEHE, Ol 3

SR EERIEE

N

b AarZ2aakol of
A2 ol
OlM= 10223
IHE o S2A7F £

of =201 =L, LS

0z
1=
ms
rlo

=
gl

2 >

o>vDLI

00\

o
gy

Jou
|I|>

| SX| 51 A I

1 ¢ 29 20| ox=2 J1E Ydote 7i2?
D st @ =82t @ 4 H2 @ Aust
20l F TAEf Fast Z

Sigstn Aot

2 ¢ 29 pretended®t oJ0I7} 7FE 6t 2427
@ MAgICH @ &elkict @ H&dict @ Zlb3ict

—
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AnswerKey
pretends ~QI MGICY, ~2tm AMSICE of ojojo|x, SO o o9
M=ZE imagine, suppose, make believe 0|C} shallow &2 resemble STt
B} mollusk XS barrier &=
3 OIS & 9 20iM Qigelx| oo 827 -
| T @ ol o1l 7| cancer & sea star 27tAf2]
2H XH7 O al _ _
=7 =B cell M= sense ZX[IC) =[ct
)\F SH Al O R A
© 7k HI7] EP| @ <A =7 threat /&, &t pollutant 2 2%, 2
?l 20IM A eFuS BRI als WE2 aEAl € fascinating =152l 0|22  habitat A4X|
P cling T=f5ict oot limb Z{Ct2[], ALX|

o ini HAIS olr|
4 9| 20| JeHmet UR[SHX| Y= %I@? injure FSE B

2220[2] S2AI7F 2ol 16kg, Se0lA 38kgoIUee

2 (c)28el stdolg s4ut 7.;% A2 dyolM= 20kg Reading 1 T
= QFLIZIOIR 2l= LES Tain 2 oA=L

22 J2(Zet UX[SHK| =Lt
1.@ 2.@ 3.0 4 @

@ Thenlhad a chance to watch a movie about

Visualize the Text

(1) sandy sea floor (2) brain
i huttles. .
the first space shuttles - (3) eye spots @) new limb
*have a chance to ~ : ~&f 7[3|E 2Tt .
(5) pollutants (6) global warming

« to watche= HAL a chanceE $=AISiCt

¥ The coolest thing was that my weight changed

=0 Hof m

on different planets! Sal= MY ol HICIIALE S7HARIE A2 4 QiCt ofE 2
“The coolest thing FAES LiEfiCt TIISS MSELL Q0] ZaH20f QU i, T2 2SS 5
cthatEe HAEZ 20N EH{SEre st el B2ejf HiEol = As O Z0f6H|= S,
- | SIS Hot QICh Al HRE BESte S48 MESS
@ Interestingly, there were no two planets on . B
L gyh - P 0] R QUC) 2IARISS S5 gt sfAlRt 1 3| 2e
which [ weighe e same. . ., L
RS ] 20 "= (eye spots) O[2t= 2SS JHx|m QU SRS
con whiche (XAt + ZACHHADZ AL - o Sitiail o o =
(eye spots)2 Lt IF2S XIS S7tA2|e] |2 a5<

two planetsE sAlSIC =2 ola = ZAIS0] 9\ct
o T

SHIE @0la) W) iR Sl Lk o Ch et
| B2XlE R2C) 12 WACR o
I.

«= ~ two planets which | weighted the same
on

Unit 2. Life Science

Vocabulary Preview p.105 2=

A 1. barrier 2. sea star 3. cancer

4.resemble 5. mollusk 6. threat

7. cell 8. shallow 9. sense (EEETED)
10. pollutant 1 @ =S7tele =2t 525
B 1.b 2c¢ 3.e 4a 5.d @ =7tM2]9] St /Y

b
Q@ Ho2RH S= =729 &4

Answer Key

—
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SR0lE S7HARRIS| Ciyet EFut 270l ZsiXlE &

PPN = RN g S

2 O S7IEIS2 AKX CIRIALE ZE LIS mf ChA 2
H5HA| X2t ske s20] {A.
3 O wSlixlE 2401M Xts 20| BS +|IXIa Ut
@ ISl 2400 HolE Z= A0 oS o2HRdX|L
AL,
@ eitofA 28t A2 MSsk= X0l B2 2RI
AL,
@ R7K2 250l X2k X0] OIS HfGHA|L T,
giZiof sidste =H2 X2Het HzZol S7tARZE 23
Tl= of24z0l 2t LHE0ITE Tt 29 theat 7Hy EX|
Sl A2 @Holct,
4 T2 HaPF 271MR(e] ME 2 oigS 1 Utk
LSO, 7[=2Hat 27219 & Feks &tte As
7Y 4

@& Some sea stars cling to the ocean reefs and
rocks, while others prefer to be on the sandy
sea floor.

*(some ~, others )2 FH(LZE)~, LIOX]|
(CH) -2 2n|2 off 7 SolM F 7 Fod
INESEIRI Rl

+cling to : ~0ff I3iCt ~0f DHE2|Ct (= stick
to, adhere to)

*while2 BHHOI|, 3HH S LIEH= TSAI0ICH

« prefer= toRHAE SHNZE 2=t

@EY You might be surprised at their ability to

grow an entire new limb when one is injured

or broken off.

- surprise® #SEi= ‘be surprised at 0lCt
(NOT --- might be surprised by )

« 0 grow= 2HAIZ HA} their abilityS =AM

«is injured or broken offe =& ES0[C}

Furthermore, sea stars are losing their living

place because of global warming.

»because of + FAL : ~IHE0] (= on account
of, due to, owing to)

Answer Key

-

Reading 2 p.108

1.0 2.@ 3.@ 4.9

Summarize the Text

(1) various sizes and shapes

(2) give habitats for

(3) like a natural barrier

(4) a source of medicine

(5) are suffering from some threats

(6) protect coral reefs
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& Some reefs look like large sponges or brains,
while others resemble cabbages.
«some ~, others - EH ~ CIZ2 -
*{look like + HAh= ~AF Eo|cf o £olc,
s resemble2 EISAIZ HXIARL &7 AIZSHK| &
=Lt (NOT resemble with)

@ Their colors are so beautiful that people are
amazed to see them.
«(s0 + EEAHA) + that + F0{ + SAHE KR
AsliA ~3ICt o] ojojo|Ct,
« 2 HEAL + to BHAL to EYAL

o HRls LY,

rr
N
b
H
Al

€Y As coral reefs grow, they provide a habitat for
thousands of creatures.
cAse FAE HEAMR K2 ~olHA o|ct

« provide AFE(B) for AZHA) : A0 BE MIZstCt,

AnswerKey

So, it becomes important to protect them
from human harm.
«it2 71304, (to protect ~)= TIZ0{0|Ct,

« protect AIZ(A) from AE(B) : BERE AE &

SolCH

p.110

Vocabulary

A 1.solid 2.rotating 3. habitat
4. exhibition 5. threats

B 1.0 2.0 3.@

C 1.barrier 2.resemble 3. core
4. pollutant 5. axis

A 1.while 2. for 3. from
4. to complete 5. much

B 1.since - while
2. with --» to(for)
3. to -» from
4. finishing --» to finish
5. being -+ to be

Making Sentence

A 1.is famous for the enormous ice rings
2. takes about thirty years to revolve around
the sun
3. Getting firsthand experience was helpful
for learning
4. while others prefer to be on the sandy sea
floor

5. so beautiful that people are amazed to see

Answer Key

—
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(=) S
» Vocabulary 5. as much as= ~BHE 9| ojn|2 ofl chet HlwE
M == Aot

el

A 1.0l IRI= 240] QU= TEB SXIES YXIE 4 QU
2 X7t SFER)EID Q7| H2o, T wo| x4vtopy B [aHA]
olouict 1. 2= B4 O g0l Jl= eis| Zizsirt,
3 22 U2 O =252 Q5 ZR35 MAIX|0|CH 2. s | 2|Afol 2t efzte] HEES LofA| ME3HCt
4 N H2TS DIEIA o2 HES ISt HAEIS AT 2= HES QACRBE HSH0RE i}
ol =olct 4 U7 $XI1Z Bojkls dis 2A1Z0] 22 Zolct,
5. si2ls 10| 7150] 0[St HH=RE T o] X3t ol 5. AR oiA] Dfer,
S SIoiCkD LIt (at]

1. 2ot Bl ofl siiEst= AT whileO] ERstck

=y —
o 2 provide AARE) to BAIE) : BOIAI AS MIEatTt
@ Saimct @ &|1%tatct o o
® sisie =0l P 3. protect AIZH(A) from AIZ(B) : BRRH AS E&5ict
HS 5
ce= T T . 4 It will take AIZHA) + for 2XZ4(B) + to EHAKC): B}
2 U7 MBI ool ThEt RE ZSS L1 ot ISt _
| ol Coh=tll Azt= AlZHo| 22 Aolch
x| Of2
' 5. pretend= ~QI Mot O] oln|2 to REHAE =802
® a2lsict @ FAfsIC e e
@ Fhsict @ =48 Yot T
3. 1 0f0l= HinEat Faiz w20l HotoiAl oiE=Ict » Making Sentence
@ OH=AlZICH @ AUxlstt
MO T molzZ = 1 Ol= Z{CHEt o= ¢ o
@ AljiéH:I_ @ %E%Ef A 1 EdE O FRIE §E1M|'L [ 71 Hn_ =0 Lali 7o
Shct,
C 1. barrier : & 7§0] St E= AMRHES B2 o= A2 2 EfOF =9l2 ZEsle foje of 300| HaLCh
2 resemble : MFHOIL} AFZQ] MZAM7ZE M2 H|ZsIT 3 2F AS si= 2SS0 =20 T, LES0| E
3 core : X|7ILt CH2 #do] THY E40] Bl 28 JHET AlOIR
4 pollutant - & = 3712 2BAPI= 22 4 O 2INZISS MER0| Dek20l QXIS T2 S
5. axis 1 HCiE &2 SAF e el M S 3K matdiSo] 9l S Masict
5 59| MZ2 iR OISCIIM MEES 1% Ba A

) |
» English Usage |
A [5HM]

1. AE[E2 ot B= g Z0foia 2IH| of=2 AR &

molst 2907|3 HTBICH

o
. an
3 0| EXl= UE E/AR EHYSZRE ES5Es =o8E

5 Li= U7t 0IHZ a7t 3iE =2 EA/I6H|E di,

[5HA]

1. TS while2 BHHO| 2h= 20| ojn(7} Qo

2. provide AE(B) for(to) AIR(A) = provide ARZ(A) with
ARE(B) @ AXIAl BE MISsiCH

3. protect AlZHA) from A=(B) : BEEE AS 2S5t

4 It took AIZHA) to EHAKB) : Bat=0l Azk= AlZto] &

36 Answer Key
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CHAP

TER 6

Technology

Unit 1. Automobile

Vocabulary Preview p.115

A 1. hybrid
3. own
5. focus on
7. can’t afford
9.ride
B 1.d 2b 3.a
& oy
electricity %7/
hybrid 2%, 28

§ éé}%
make money ==
ride EIC}, &0t6iC]

be willing to 717{0] ~&iCt

= gt
t

convenient Hz2|5t
popular 27| U=
fCt

ol

require 2R3 27

2. pay attention to
4. research

6. electricity

8. be willing to

10. make money
4.c 5.e

can’t afford ~& G{R7t SiCt
research &+

pay attention to ~0i| Z=2Jslct
own ARSIt

focus on ZI&Esit, Axsict
occasion &<, &AL 7[3]

normal 2£°| st

Reading 1 p.116

1.® 2.0

Visualize the Text
(1) special occasions
(3) expensive
(5) look good

3.@ 4.3

(2) room
(4) most men

(6) two or three

gtz 20 4 Uz Uo7 =AEHZI? ofoke ofd A
o 2%2 Mo|UFUCHL Rz =2 H2[F o Gl 0fF
Lt MEzEX X2 28 & o AL 0| 7+ Z0fst
£ A FAUUI Gil2 Z2HIXE e ALXIIE ZO0rg

AnswerKey
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=710 UUM £z HORRE S0,
ARRFI0f QU0IM HRFE2 MECE SQ5|C,
X701 UM £ S
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G Do you like fast sports cars like Porsches or

[
>.

beautiful cars like Jaguars?

< N HW ikes 22 SAIZ ZFO0fiCt 9f Qo]

Answer Key

—

37



002-052-3¢ %

38

£ 2014.12.5 7.7 PM T 9] %| 38

o1,
< 5 B, M S lkes TXIALR ~AE], ~EE
9| ojojo|ct,

They are not as comfortable as limousines.
* (A not solas) + SEAL + as B= Bg Hlu#
oz ~0iF --ofx| 4ot o olojolct,

«= B H|Wg + than A

Reading 2 p.118

1.@ 2.9 3.0 4.9

Summarize the Text

(1) both electricity and gas

(2) are good for the environment
(3) pay more attention to

(4) they are expensive

(5) make hybrid cars cheaper

Hl

t0[E2|= XtSAk= 021C] ASXI0[et oHRet eEE X1Z

ol

LRIt Y| Oh20| P2k KB S0l XISHS 2t
T IS 20[ch o/l XSHE Tl HLRES ARSI,
(a) 1252 BE NSAPt AIZ3l= 20l FLRE Al
27| T20f oIS TorshT EHS SIME ECI. U2 &l
S0| Bfol=2lc XISAIZ PSR, 1SS HIWT| TR0 A
YSS ORI 1SS MRl YEC) SNSS of R 9B
511 3f0l=2lS KISKIS Tf M| BSOSt Stttk BRI (b)
0212 e AR £8 HeE 51| th2ol #x] %S ol
113, BAISS HE NISASS BET I 20 o e Fo|
7IB9ICY, () 25 =8 Hofot 57| T20] HE XSl
52 Bt RUARVIS, B2 AIZE0] gl fojsz|c Xt

Mo o oA mw
>
fu
>
~

ol 242 Sl e oLt 15
S22 To| MBHKl= 2EXBH CfRRo] A—SS ol

2= ASAE & ZHE KRt gl slo[E2lE ISk B

Tefet 2ot 10 Tole= | M=t o< Hit, 2Re A

7ISR0] (d) IASE 241 UACE XZ2 7Hel H= Mol &

th MsiE 24 T,

Answer Key

-

(EXET)

1

29 EE T 220N R BX|0TIN=2?

9l 29| L8t UxI5Hx| o 2

D HE XSHE S0l NSAEC B2 FLRS A
sl

@ BlolSRIE XSRS WIS FURES AISSHs
Of74EIC,

@ sinse
tm.

slo|lgz|= &
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@& Soon, we will be driving hybrid cars because
we will need to save energy and the
environment.

- will be driving2 D2l IS AlMZ 71712 0|
2f £ LIEHCE

* because= 0|RE LIEfUE 2AE FLA0(CEH

&2y Companies have to do more research and
make hybrid cars cheaper.
«have toe= ~aHof2F SiCF O 9jo|2 ‘should,
must X2 QRS LIEHACE

s and = SYUEEAZ dolt makeE HZGHRLT,

@EY Right now, companies pay more attention to
building and selling normal cars.
* pay attention to AHSEAD : ~0f LAZ 7|2
o|ct Ei=sict
cto= MXINZE SHAE SA0I2 Zh=Cf (NOT
- fo-build-and-selt )

Unit 2. Invention

Vocabulary Preview p.121

A 1. millennium 2. predator 3. historian

4. scare away 5. division 6. pottery
7. preserve 8. protection 9. melt
10. proof

B 1.d 2c¢c 3.a 4e 5.

& oy
proof &7 historian SAPt
pottery =X17| millennium &

protection 25
preserve ES5iCt X|7[C
melt =ChH =0]Ct

scare away &g 01 Z0} tf2|ct

predator ZAIXL ZA S5

division 22 i

by accident 5] suddenly ZxH7|
experiment &2 climate 7|

transport &

-

AnswerKey
Reading 1 p.122
1.® 2.0 3@ 4@

Visualize the Text
(1) 7,000 years

(3) move wagons

(2) rounded pottery
(4) cooking

(5) predators (6) colder climates

(A) BiChel 2t WHESS W Aol BRE WHE0| 9
AL TKSR S HULICE OIS 712l 7k Slrfet 22
OO} BIFIY LIk AMBIKISS BIF7E o 7,0008 Hol
Doh AH20 SHECHD BSUCE, (3) S2AE, AXE of
S8 9 ! b) b= ZRS Sl 53
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4 @ RefstH @ Akt
@ &, tHAIZst @ g
gz o 2t 2IZ10] U= 2EE =9 Ml 7KK S=0f 2
sl Aol ATt w2t Hotel ofn|7t QL= in addition

@Y The wonderful inventions of today would not
be possible without the important inventions
of ancient times.

*(without + BAL, F0 + ZSAF 1) = 718
A HEHORZ without2 Z7AES| Al Bir,

« {without + HAR Q| 2joj= ~0| i o|ct,

« Without A} = If it were not for HAL = Were
it not for HAL

EE¥ But there is proof that by the 4th millennium
B.C,, it was being used to move wagons, in
the same way that it is used today.

«{proof that ~)0llA that2 S4S LiEiL= &
AF2 that 0[oke] L2 proofE Aot UL,
«it2 the wheel& 2/O0lstl was being used=

A Zlele s~SEfolct,
*to move= ‘BZI0]7| Qalf 2h= S0 E2 B

&2 in order to move Ot

@&J This allowed people to spread to new parts
of the globe.
callow + X0 + SHE0(toRHAD © ~OfA -
g XS sifsict
« allowe= SXHEOZ 10REAE Z=0h (NOT -
)

allow people spreading -

Answer Key

-

Reading 2 p.124

1.® 2.0 3.3 4.Q

Summarize the Text

(1) during wartime

(2) the biggest invention

(3) a safe way to communicate
(4) Another popular technology
(5) came about by chance

(6) microwaves from the radar

gLt

(A) Ol2 S, T S0l JigE 71 SR 2Es2 AHAY
LIk QB2 X 7|2t St ol= sl 2fsh dE=USH
Ch O30 EE A2 4 Soll Mekdo| m=s E<0l
S U HE 4 Uz QS SHOIUSHCE 1 0l=, QIH
2 AsiiM LT AT 2|9 U MM ARZELCH
(C) Ak, T Soil e = T tisAe! 72 A2l
XIYLICE o] ZHE2 Ml 2% MAICHE Soil 2215] AAGE
Lt o= g, 8t 7Igxte ZUE 2l AlEE 20]H AlAE

ERTETpY

1 9 29 A2 71 92 2427
O et &A @ 22|19 4= HeA 7] YEE
@ =2t UH: AHU @ Y Fof UEUT HHES
‘P29 4f0] AS SHAGHAI A7l Y S0 PSR 2y
(IR MX|QIR]) 2 et Z0]Ct

O <9s] @ 192 Q@ 1oFe=z @) ooz
by accident= 25l 9 <|ojo|z

)
chance, accidentally’ O|C},

—
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AnswerKey

3 012 5 9 29 U8 LB
@ OIE|HIS xxy Zof JHotEl 7 FiCi2t SleyEo|c @& Many kinds of technology [(that) we use
@ &2 2ol 2aiex|l £t 2|0 Mol IS A o o
Ct everyday] were invented during wartime.
_ _ =
@ 3t BOI0| So15| T Fof FXRICIX| 7|aS Yt =
o H = = ~ - 2X74 1 H
@ xRICITI= #lo/c) AIABl| D0|S2IE 0[Z5f0f ot SAL T (thal) + FO + SAF ~ - SHA BAHS
- A thato] A2k=l 2tolct,
. i = A= OXto| =
FRpIOIR| 142 Bt JlAPE BOIE St MSE 2ol were Inventedis 74 SSei0l =2 S
_ _ C
AAYS CiRC) 9015| Ojo|a2nle| RIS UAE % Ol
olct,
4 (B)= Aol ST AES AJS2 Aol TS A
QU= 712 JH), (AN T Z0| woiE watEol oAz

Unit 3. Technology

Vocabulary Preview p.127

A 1. translate 2. science fiction

4. unbelievable
@Y Forinstance, the biggest invention [made

3. vacuum cleaner

o] 5. bead 6. household
during a war] is the Internet. 7. respond 8. chore
ANOIT EA} 9. device 10. feature
«for instance : 01E &9 (= for example) B 1.b 2a 3.c 4e 5.d

« 29| Z0JE= the biggest invention0| SAt
= iso|ct,

*made= SAPt OfL|1D
= LHA2Af0|Ct,

£ o9

vacuum cleaner & &A7|

AL inventionS 4AI5H

device Hx[7|7], 717|

€Y What they wanted was a safe way to

communicate in case phone lines were

destroyed in the war.

swhat2 ZHALHAZ HA 2&e| F0{0|ch
(what = the thing which)

+to communicate= BAF wayE $AIGHTE

*in case= ~2 ZSE itk of 52011, T

A Sigte it

non
o i
ol

@& Since then, it has continued to develop, and

now is used in our everyday lives.

+has continuede= 2itiztE Al&=S LIERHCE

« SIXHRA=Z(AIL) © 301 + have(has) p.p. + since
+ =01 + I SA

+since?l Qo= ~0|F= 0|t

household 752
chore (H7|Mo=z o) A

feature E¥5| ZLaloiCt

respond 2S5t
furthermore #lCtt
command &3
ahead &2z, o]

translate Hi5t

ct
science fiction S4f 1}sh A4

unbelievable 2& 4 9=
bead 7&
thin 82, 7t=

estimate 35iCt, Hotoict

Reading 1 p.128

1.0 2.9

Visualize the Text
(1) common
(3) sensors

(5) real dogs

3.©

4.0

(2) personal robots
(4) avoid
(6) fifty new words

Answer Key
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(Er=)
1 @ =X &T9 HA
@ 71218 =% Tl 7t
<2[9] a0l &= TR Jle
@ Aol 2 EAIE =2RA 71715
fl 22 78 2X0| R[] LY oM BHEED

I, ot R2(0] Uy MEE HSA7|n ACY = LHE0ICH,

@ (b) 2 T8 47|
2R ofAS=E @ (d) B8=
N

—
(c) 12 o 27| 28 T2 HAT|(The robotic vacuum
7

%
7o 280 EIZ0] Rl 282 2R 00|27 E 4~ 2
X @)

AN
Cf, et F7tel oojrt Q=
X

<
=
jy
@
=
3
o
=
)
N
=
=
=

@& Infact, by the year 2015, it is estimated that

sales of personal robots will be four times

Answer Key

greater than they are today.

*it2 7150q, that®2 TI5=0{0]Ct

«four times greater than2 Hi4=A} ®310|11 £
2 4uiLt o =2 0lck

o BiseAF B2 (Hig=Altwice, three times) H|x
= than) E= (HiseAf as -+ as)olCk

@& Soon, human-like robots will be able to do
chores around the house or take care of
people who are sick.

«(will be able to)y= ZSA} 2

7| mZo0ll Soprt #2 ChE HBE ARESl

(NOT --- will ean -+-)

whoe= HAHHEAETZ)ZE Al people= 44!

it

Reading 2 p.130

1.3 2.@ 3.® 4.0

Summarize the Text
(1)science fiction movies

(2) these films so exciting

(3) unbelievable technologies
(4) modern video games

(5) watch a newspaper

US ARISS I TEF HE ZORILIL, Bz of2f

osis0| 122 B0|2IEIE 09 BiZ DRl 712 Rl

Ch. &5t (Olold2lEl 2IZE)olMs TafEt Tise
|-
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= 2t &2 =50IM

A = = —
I AELCE oE EH E 322 Y 2L E
= S AL AL = =l O | — o o
£ 25 4 UsUTh I8t Hole 220l AR A2 AR
= o
= HA

Cl2te, eiXiE2 =42 7Is2 ol 2 o 70|
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S2 Sxof ARIZ BIS0{ HLICE 0iX| 8ot Ral= X AR
2 gl 20| 0Lt = 4 200 2 UL
(EEEE)
1 920 Fri2 7hy Yue 227
@ 710] Bt HatS
@ M2 wHEo| oS
@ ABE?! Z2AAUS 4 ¢S W0 71
@ 77 217] Y= 13t 20f
=UROIA DfHol 2t Thof et AHet ¢ Sake ot
st 7120f Chsh 0lop7 15t UCk
2 9120/ Uizt (a)0] SO U ThE e 227
D K5I
@ sihz
@ 220l 2750
@ o2 S
T 9f of 22 HiCie AUS BRIS0| FXOI T
S 2|07 Fh7to] FHRIC 27| st e2fst THEO! oA
olct,
3 2l 2o Lhgat URIGHK| 2= X2?
@ (Olo|-fzIE| 2lEE)YE Be j 7SS E3EH It
@ (OlolLfzIE| 2lZE)E SH0l= MRS A2 2 B0
zt
@ SRS P20 BES BN o JH7t0l JHHCt 37| 9
off 25| L==elgtet
@ OiXIR0F 2l I MRS BE 20| Ofjzt 52 4
WAl 2 Foltt
22| 0{XIR0F I AI2Z 2= 20| OfLizt & 4 U
Sf £ Lhgo| otg =it
4 920 Wz (b0l S0IZ L= JhY U %27
@ YSRSE TR0l s G2 F0Ic
@ thpRol A25S 2 Alt Zo|tt
@ FAIBO| AIBRISL T2 0ISOIA| 128 2AISICH
@ O ARISS TR0} BIMCID SEBICt
HIZH 0150l LIBS HXIZOlC] STt lzfol Algapl 2
2 ol B3t LIS0IC), waty HIZR FIXSOl0] B3t o

AnswerKey

@Y Inpart, itis all the future technology that is
so exciting about these films.
(it is dXOIF thah2 ZEFAEL=Z all the
future technology & ZZ=8lct

@ Although these technologies seem far off and
unbelievable, scientists have worked hard to
bring the dream a lot closer to us.

« {although 01 + SAL, 301 + SAH © although
= Y 2PAES HEAMZE ool= HIE ~0lX|
or olct.

« have worked= 2ixitE AIK|O|CH

* to bring' 2 7IM27| 2l 2f Qo2 SHES Lt
EHACE,

@ Soon, we will be able to watch a newspaper,
not just read it.
« (B, not AYE (not A but B2t 22 ESIo= ‘A
7t Otl2k BOICK ©f ojojolct,

p.132
A 1. melt 2. can’t afford 3. translate

4. be willing to 5. scaring away
B 1.0 2.Q 3.©
C 1.predator 2.preserve 3.hybrid

4. chore 5. research
A 1.as 2. seen 3. was

4. the way 5. that
B 1. which --» that[who]

2. than --» as

3. cleaning --» cleaned

4. walks --» walk

5. the way how --» the way[how]

Answer Key
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Making Sentence

A 1. because they make them look good

2. pay more attention to building and selling
3. It was being used to move wagons

4. Many kinds of technology we use every day
5. It is all the future technology that

(EXET)!

» Vocabulary
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. preserve :
- hybrid © CF
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» English Usage

A

[attA]

1
2
3

FHAIS] =0l 2HTES Off#X| R4t
OIAIZH HIO[HI=E TIEGH AL,

e &= E2 O als U T Moct

Answer Key

-

4 LIof7 RS e

l2R] & 4 ULP?

= 7
5. 712U Of2Hof A HAIE Ziet Algf2 Btz O FEOIUCt,

[5HA]

1. A not as + S2A + as B 1 A= BUE ~ofX| ¢t (&
SH|mw)

2. 1IAZIES s~SEf(was being seen by)7 LR3I

3 2HQ F0{= the girlo|ch MapA HHa SAF was?t &
oict

4 HAEA howel M3AL the wayet Bl MX| e4=Ct

5. (It was + ZE0NT + thah 222 that0| L2 Y
o|ct,

[HAd]

1. HIZS Z=20F A2 Ht2 Alglo|ct

2. 4= T4e| 2IEE HaekR| edo

3 250l B2 HAstd QIRICt

4 2271 0lop7 |5l AFS0| 2/0lA 2ot

5 4= et 7142 ddsk= Yilis At

[HA]

1.t was + ZZ0HT + that)y 222 that £= whoS
22rt
HSH|W HSOZ (not as smart as)7t L2 EH0ICE

(@]
ATIEES ~SEl - was being cleaned
2% F0{= The boysOlCh mRtM SAlC| SEfe =2

23(walk)o| TSt

. TAEAR howet MRlAL the way2t 871 AX] L=LF,

» Making Sentence

A
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CHAPTER 7

People & Origin

Unit 1. People

Vocabulary Preview p.137

A 1. prediction 2.atrandom 3.rebirth
6. Buddhism

9. term

4. anatomy 5. politician
7. at once
10. artifact

B 1.e 2.a 3.d 4b 5.c

8. priest

& oy

Buddhism =12
priest AfH|, A=Kt
artifact S0IE, 2l3=
atonce SA0, A
term 01, 7|¢t

spirit I, F=

rebirth 2t

prediction 0%, o
atrandom P92, o=
anatomy of%

politician ZxI7t
identify ={°I5iCt, 20fLCt

rely on QJ&sICt, OfX[sict rare 378 E&2

illustration /st =&l
Reading 1 p.138
1.@ 2.@ 3. 4 @

Visualize the Text
(1) Tibetan Buddhism
(3) find the rebirth

(5) identifies artifacts

=

(2) anew person
(4) the rebirth

S210] 2ok EHIE 20| X|EXIILICE o222 X &}

0| 0Pt Mds mHe 2, =0 Eef0] 2ot 08 MEis=
X OFAIL Moz EHES] Eu MAS2 Z2t0] 2f0p7t
OIX*OH u!: dE AUT BEUCH OS2 E8F a7t MYE

G20| M=2 MHL=Z CHA| EHOfTt ST,

AnswerKey

Zato| 2ot MAS T 5 19 ARIKIS0| 10| BMS &
S Hl= o Ho| M| ZY 4 UBLICL 252 O Hajol
2tto] ofotoll SIXBhIE 5t () 1SS 0lBoIFE HHS
S B BUCL (BM0RID M2iEs) SEXIZ &S S0,
(b) 1SS 1 SExP} Z2to| 2ljol EOIX| ORIX| SRI5H|
St 0| BIAES MARILICE (o) 2SS O] A0 B
S ZolESS BoiFs, 1 5 Y8s ol Hato| alopt &
ST HUUCE 2B THS 2SS AH0A| 2X9IZ (d) Zol
ESo| Yes MeE] Hakn BLICH AH0| A4ZXOR Zalo|
2lto] AR 2SS S0HHH 2% 17t Zajo| afote)
B 4 QICH 2U2AH YA} BLICE 19 MERISS AlS
S0y ejo| Bl0I2 XIS | Hofl 0T E 2 AAISS T

i
oo
r
o

(EXET)!
1 (a), (), (=

2 O~ Yt O FHYS) Xt @ LZAZITt @ ofXfsict
rely on2 9|§[9|II] ICH o olojolu, SAoZE
Ic|

high priestsE (d)= artifactsS 7f2/71Ct,

oA M=
@ 2ol EHIE 21 AXISS DE A0 BE 4
QUCHTL OfEA| 27| AIBH=A]
HIZH 22 Halo| Blopt MNS ELiEt S Hatol Aot
£ O MHBHETF off BBt LISoIC,
4 EMIE 2T AXISS Zelo| Blobt BMS Sl
1 Qo wakk Zato] Blopt o2 Aol Bz Efof

SCIT REE 4 QU

@Y After the Dalai Lama dies, it can take several
years for the high priests to find the rebirth
of the Dalai Lama.

« (it takes + ARt + for 254 + to EYAHS
~af=d| --AlZto] ZZICY of ejojolar for =X
22 to A 20y Fojo|ct,

@Y After finding a candidate, they perform a

series of tests to confirm whether he is the

Answer Key

—
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rebirth of the Dalai Lama or not.

« After finding2 T&ADL s BAFROZ
AT=2] oniE 25| of7| lotd HEAE
2F5HX| Q4=Ct (= After they find ~)

« {(whether ~or noh2 HAEZE confirm2| =4
00| =2 ~QIX| OKIA O],

0x AT

They present the young boy with many

artifacts, some of which were owned by the

previous Dalai Lama.

s present + AREHA) + with + AF=(B) : AOIAl B
£ HMiSsict

«(F0{ + A} ~, some of which + SAh= &
AUEAN ALH o2 MA= m

QO
5
=

artifactsO|Ck,
*+some of which were ~ = and some of
them(many artifacts) were ~

Reading 2 p.140

1.@ 2.0 3.3 4 @

Summarize the Text

(1) who knows many things
(2) Leonardo da Vinci

(3) for his paintings

(4) a flying machine

(5) was a curious person

(6) are very rare

=D

2UYA B(Renaissance man)0l2t= 0= 2a4E Z0[X|2t

L2z QELHE oXls| aAE AISeIth 232 2UA Al

CHoll Refst 0| EHIMA T2 B2 22 Ol AIRE Lst

Ch O] AlH2 286t a7t 897t 23, AlRl 2|1 x|

7t & o= A0 & £ ULt oF AFH0| sHHO| 2ZA od2f 7t

1| dE8 2 =+ U2V JA2 EUiset AME BEY
7K £2 0lE S0iE & QL

PIEhat 22 a9l agszE a5 /i & g Qo

Answer Key

-

L2 o BIXIS OfE AHESE oksr? O U5, oI, S8
AL 23 ZAIRF 22 TSt Rz B2 deh S0t
Ho|X|| MS Mt (a) J= HI7[9] REeH Bagls T2|7|
= g0t (b) 22 EelSEet vt s ot AU HIY
719] 27| 20| 2 4 URUCE (o) ot 2Rl i 27140[ B
2 AIRFOIRU| tE0ll 2UldA o] & - AAH oI, (d) 2=
o= ZEXjofl oM AR HEE oke As BFAl U, 0]
oF Bl T2 MEHE0| £ EXfiol = ofk|2t o =20, 2=
= Z&sIc B oW gAlo] X712 2dldA Bl & +& U
= Ao|cy,

EEER)

1 CI2 = Renaissance man(2U|AA IS JHEF & AHS
ner
@®o =

Q@ Mol 7re =eE Ak

@ Y2 H21 80|15 Hd= MY
¢ 20M 2dA 2 Y2 AS ol ARF0L, 24y
A Ol =f7] 2siM=E =71dat 220

|
7EXIof ChalA 42fshoF Sty

, oS, S=, TAHSL), 71A/of 2
FAlof 2ot &2 g EIX] U

@ 2ddA W2 iR s U= AR
@ 2UHaA e =2 7ER| oA 7F AT,

—
Q@ CHIXlE SARY 219
@ 2HdA 2 22 2dnt HHaE SAl =L,
=20ls HEIRP HAY 2[109] ELEA ORI g5t

Al SERACE

4 2| 20iM ths 2E0| S01Z ARIZ 71 L2 A2?
J= o2 7iXjof M 2 ZEE sl As 9%
X| ULt
Ch BIXl= 0 27]&0] HUAV| mzoll K2 71X| it
2T ote As S| HUS Aol w2t F0E 289
Hdet ®Ixl= (d)olct
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AnswerKey

Reading 1 R

G Isitpossible for a person to be good at so

; 1.@ 2.0 3.0 4. @
many things at once?
* 12 71304, for a mane 2loj& 304, <to be~) Visualize the Text
= TIF0{0]Ct, (1) the 13" century (2) Monks
*at once - SA0 = at the same time, (3) criminals (4) fashion designers
simultaneous (5) popular
@ Continue asking questions, and maybe you
can be the next Renaissance man. m
(HHZ + and ~)= X719 9nIE a=str QU oo o L S gei e
12 PPt JTl 22 5" QsIRRt By I %S
= SES ‘NBHEt :’-E—'IDJ’O“J'. |' =T | I' :i =X == 'rroof | , 2o /_\
. . . . OB LICE Aol= 712 &FL7t Q17| UX|= LU 236t
+ Continue asking ~ = If you continue asking B
e Riths Zig Yu ANLR? s, 712 &25= YA
'

question, you can ~

: ) L} ZCHSOAISE A2EASLICE 0102 TIAER T} & ZHo| (o
- continue + SX(SHAD : ~ol= S AlLslct “’,HE Pt NSRS, DiolS mARE} ¢
Ofo] ZhHof MEH 0] RE ZI2 13M7| AN ARERS

Lot &89 =550 |2 0|s=d 250] 7iz 74
=)

7b 4% olfet ol=S RUSUICE O Ofdet AEMUR B2
AL

NZES 2 0, we A Js Z0I6HK| HUSLHIC

ZiHoz Itz ERLE SXEUL, HAKES 01 2 ¢

CE ZQEJUSUCE SIXIZH ARI0] S28HM 712 ERL= Af

LSS Ni=ol7| ARRIGUICE (a) 2041710 B2 mid CIXlo|

HS2 712 E2L0t QUIE oAl 2= ol IxFsU (b)

Unit 2. Origin 1 1940Etiol= T S2U7E olevl, FRMEAAES0| X 7t2
ERL RS YJSULCL (c) 2AXES HolelSat 19800 H

E3F AOJoIlM 7|2 BUSUCE (d) 2 022 JI1Z &2

. El |
Vocabulary Preview p.143 i
= Bt A

7
2= MO0 mHM HEf0| HRASLICE

A 1. filmmaker 2. stripe 3. robe
. . (ERET)
4. pope 5. version 6. horizontal
1 @ (otel Fholztzs 2ol cheh blEkst |
7. legal 8.legend 9. unsure _ o
@ 13MI7|9] A mijol| chel =5t7]
10.monk @ ofef 2=550] UH 22 BB
B1b 2¢c 3e 4d Sa @ Tl MRE 7t ERLI0| NS M|
ofofe] o2 GANHE JI2 £ R0| 0EH 2549
7 oz I ZE0| HRA=XIE HHeliF= 20/t
horizontal 7}2°| 4% stripe 22| 2 MESeE JIR E2FY 2 Y2 AR 3304 w22 0]
monk +=5 pope & S8t 4=50ICt
filmmaker SaFHI=AF legend =1 , oo o
. o J2x| 9o CrfARiA =
unsure £t version ~ i ] 3 @AY © CrAE
FEnivSie) H
legal HET} ZRiE) robe o= © gaxe= @ goi=
celebrity £ QA clown ZH 712 B2 Q0| nHS 2T B2 ARES S 3
put out (£2) 11 aroma 37| 415t 2o Zuez 7iz2 £2Y R0| SRIZACL w2bA U
fashionable S3foh=, QS 02 = KAAEA 0|03 HEXHE= consequently(ZTHH S

Answer Key
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2) ojct,

4 0122 7i2 EFL|= Teoh AIIS Ao[ofA TN A

Sf0| Z|ASLICE

% l= 712 E2L| R0| 20M7| THM CIX0|H, 0l&7IE,
0|1} 1980t W3 23} J2|1 HSH ARIS0IA| oH

M Zsto| =7|7ix|e] aPge igstn Qct kA oIl
o

@EY Clothes with horizontal stripes are rather
fashionable today, but this wasn’t always the
case.

« 2501 + ©AH[always, all, both, every] : £&
2yE UET &2 2EER] ~8t A2 of
C} olct

@& Did you know that horizontal stripes were
neither popular nor common long ago?
*neither A nor B : A= B Ofd! (MZEISA

@Y Consequently, horizontal stripes were banned,
and criminals were forced to wear them.
« were banned= UAHAIK| £~SERO|CE
+{were forced to~)= IHAK| +SEHOD =2
~olEE 2 Hitt o|ct,
+Criminals were forced to wear them. =
Someone forced criminals to wear them.

Reading 2 p.146

1.® 2.@ 3.® 4 @

Summarize the Text

(1) to discover coffee

(2) was discovered accidentally
(3) the most popular sodas

(4) anon-alcoholic soda

(5) alot of legal fighting

(A) O E42F HOl ARFS0[ MHUV| flsh ALIE SLLICL,

Answer Key

SIX[2F OFFE AHUIS e Z[EO| A0

Hafs| roln] o

X| RECE (a) S0l =S, oF X ol Sof w2t Z
= g2, adE 39] X=Xtol|A|

7HK|2 gL (o) 2 K]
EXxkE 20| FRUX| 22t & £e2 fof ERtsUn
712 £2 &0| O XRIE MEEUDL (o) 252 MMEe ==

0 W7 IS B2 20| BOHERELCE (d) 010 MA =

(B) Z7k=2tk= TMARIM 71 7] Yl EtE = S2f oity
LIC SEXIZE ({22 30| RIC2HEH ARFICs XS of
AL 1800 & HHEO|2k= 0[=Q/0] F7ILF= B
QIolS HONELICE 1886 27t Al= Xlo“‘Oﬂ =0| S|
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@& But no on is certain about who exactly was
the first to discover coffee.
*no one & BEHOE OIRE ~olX| =t
ol olojolct,
+ (who exactly was the first ~)& ZFEH9EEC
2 HXIAL aboute] S&0{o]Ct,

« to discover= the first (person)S £AISIC

Coca-Cola™is one of the most popular sodas

in the world.

cone of Zldg + =2BA T IFY ~
oLt

l

A &9

The drink became so popular that three other
people began selling different versions of it!
+50 + HEAL+ that + F0| + SAL: HF ~aliM
8t F=olrt

Unit 3. Origin 2

Vocabulary Preview p.149

A 1. monster 2. jewelry 3.reason
4. celebrate 5. spirit 6. jail
7. ask for 8. emperor 9. fairy
10. Celt
B 1.c 2e 3a &b 5.d
& oy
reason 0| Celt ZE =

spirit &= monster =

fairy 28 celebrate =5loiCt

ask for 2FasICt jail &=

jewelry 24%
scare &=Lt A9 St

express LIEHLAC HBISICH

emperor 2|
ghost 2&, 74

hide &7}, 23t

-

AnswerKey

Reading 1 p.150

1.® 2.9 3.@ 4.Q

Visualize the Text
(1) Celts
(3) evil ghosts (4) kids

(2) scare evil spirits

(5) fairies
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2 ZE =0| Z/HIES UE Olf= ‘=idIE0| 189 =2
Zo fEE AU et 1 4230 | whzo|ck

3 O0|E0| 7+ £0tst= e=28 YAk= Trick—or—treating’
olct

4 O TEX0IX| gLt © Cl= ZXHotA|
B i 22E Il @ F=2 Aol Tt

oH=r}

[y

gizt olz= 22 37IX| E550| F= ZE Z0i 2siM
28 QT 2h= HE0| HZEUCE T2t efE SHA0]

[

b7t BiZtol

@& The most famous activities on Halloween

71a =Esict

are making jack-o’-lanterns, wearing

costumes, and trick-or-treating.

« 29| 0= The most famous activities0|1
SAk= areo|ct,

» making, wearing, trick—or-treating andz
AZED, 2EC| HojHes Bt

HARHZALZE ofd

+ making®t wearing2 S0

Ct (£204)

If you gave the fairy some food, it would help

you. If you didn’t give the fairy some food, it

would hurt you.

«(If + 0] + IASAK, F0{ + ZSA IA~=
TP a2 Aol OfLAALE Loid A 2K

o Sfel U S et mf F2 ARGsiTt

Lo

Reading 2 p.152

1.@ 2.0 3.3 4.Q

Summarize the Text

(1) Valentine’s Day is celebrated
(2) toward the important people
(3) other romantic gifts

(4) how it started

(5) a priest called Valentine

Answer Key
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Lic S22 B2 OE MESo=e g4l oiEs ®alg
UL,

OFFLE O ROl &M 7|Es 2EL. (a) A—FE2 B2 HE
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RS g=0 ATt Bith 19| 0|52 EHEFRI0IRUCE (b)
WRHERRI2 Al =55V IS BX| 27| wh=0il 24=201 7t
A SACEL H=0ilM HHERIS SZet AMollA| HXIS Ak
(c) Ol AHO| EE &= das ol 28 =5t Jus 2
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HHEIRI2 EXofA =
Pl =IRACH,

7
CI20|A HRERIS Z20| Q= AEHO|T, FOEI 24

- O

€ People usually think that boyfriends and
girlfriends are the only ones to celebrate

Valentine’s Day.
« EYUHAL oneseE S

7t2|zZIct
CHHAL onesE HHF= SSAL

HAF boyfriends and
girlfriendsS

to celebrate=
A ZHo|ct,

She gave Valentine food and love.

ZESHY B

* givee SHSAIZ 2742 =4
= She gave food and love to Valentine,

EX‘IM

OiE =Ct.

p.154

Vocabulary

A 1.rare 2. fashionable 3. artifacts
4. identify 5. celebrity
B 1.® 2.9 3.@
C 1.legal 2. politician 3. anatomy
4. fairy 5. prediction
A 1.nor 2. Peterlunch 3. so
4. would 5. which
B 1. this paper Sue--» Sue this paper / this
paper to Sue
2. will --» would
3. or --» nor
4. which --» whom
5. very - so

AnswerKey

Making Sentence

. some of which were owned by the previous
Dalai Lama
2. and you can be the next Renaissance man
3. horizontal stripes were neither popular
nor common
4. so popular that three other people began
selling

5. If you didn’t give the fairy some food

EEER)

» Vocabulary

A 10885352242 EI?IBHXII UL,
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» English Usage
A [5HM]

1. Tole o2l = & ol Algs
2. o2l= ofA| TEOAl Hels FUC

EE E
3 N2 H=F miEshM A0l s =RCL

IHE|of @X] §AUCE

Answer Key
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71 29| Mes S Qi Z1UH0iA| Meiet Hi),
Al [u]

5. SIMS0| Liofrl B2 H2S N L= 2 theol
S

1. Neither A nor B : A= 0|11 BX= O
2 20 AMgive] + UE=E0[Peter] + AF=X0{[lunch]
3. 50 + Y2AHA) + that + 0| + SAKB) 1 HE AsHA

4 7Y 1| BEeZ FE A s ASA oA

5 BAEAL A& gHoz MAIE ‘a lot of
questions” 0|22 which7t gttt

B [siA]
207 0] BO|E Ul FAIAHL?
2 L7} dEish 4 QITHH L= SAOIA &F HIG),

St
= —
3 M2 Fole S=0{= Reltt,

4 L2|A= M HO w07t =d|, 25 25 ZEIC,

[5HA]

1. pass= SUHSAR F 71| ZX0E =L

2 7MY 1R FE SAte 992 B2 ‘would live'
o|ct,

3. neither0fl Xgfet &3 F&AR= noro|C,

4 MAL ‘three sisters’ 0|22 all of whomO| SHI2

HB0ICH,
5 Fk, ZIE UEE "&AL thatlh 0iE2ls FARE so
o1,

» Making Sentence

A 1. 252 o2 A0 2 BoIESS EolxEd, 23

LEE= 01 F20] 2f0p7t AFIUEH AULCE

2 ZEE JiSstot BE OiWE g0 7|0 2UlgA H
0] 2 2L s AoITt

3 Aoz 7= EFEPE 7] URIE §UUD SR
UCt= XS L1 ANHR?

4 S== 042 7171 BOPMM M| HO| T E A—S0| THHE
AElol S2E LI| AR,

5. Qief gblo] 2FoA He A FX| MO 2F2
gtls s Zo|ck

52 Answer Key



